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CHAPTER 6
Inventory Costing
ASSIGNMENT CLASSIFICATION TABLE 

	Study Objectives
	Questions
	Brief

Exercises
	Exercises
	Problems

Set A
	Problems

Set B



	1. Describe the steps in determining inventory quantities.


	1, 2, 3
	1, 2 
	1, 2
	1, 5
	1, 5

	2. Calculate ending inventory and cost of goods sold in a periodic inventory system using inventory cost flow assumptions.


	4, 5, 6, 7
	3, 4, *14
	3, 4, 5, 6, *12, *13
	2, 3, 4, *10
	2, 3, 4, *10

	3. Determine the effects of inventory cost flow assumptions and inventory errors on the financial statements.


	7, 8, 9, 10, 11, 12, 13
	5, 6, 7, 8
	5, 6, 7, 8
	2, 3, 4, 5, 6, *9, *10
	2, 3, 4, 5, 6, *9, *10

	4. Demonstrate the presentation and analysis of inventory.  


	14, 15, 16, 17, 18
	9, 10, 11
	9, 10
	4, 6, 7
	4, 6, 7

	*5.
Calculate ending inventory and cost of goods sold in a perpetual inventory system using inventory cost flow assumptions (Appendix 6A).


	*19, *20
	*12, *13, *14 
	*11, *12, *13
	*8, *9, *10
	*8, *9, *10

	*6. Estimate ending inventory using the gross profit and retail inventory methods (Appendix 6B).

	*21, *22
	*15, *16
	*14, *15, *16
	*11, *12, *13
	*11, *12, *13


ASSIGNMENT CHARACTERISTIC TABLE

	Problem Number


	Description
	Difficulty Level
	Time

Allotted (min.)

	1A
	Identify items in inventory.


	Moderate
	20-25

	2A
	Apply periodic cost flow assumptions. Prepare income statements and answer questions.


	Moderate
	25-30

	3A
	Apply periodic FIFO and average cost flow assumptions.  Prepare income statements and answer questions.
	Moderate
	20-25

	4A
	Record transactions using periodic FIFO. Apply lower of cost and market.


	Moderate
	25-30

	5A
	Determine effects of inventory errors.


	Complex
	25-30

	6A
	Determine effects of inventory errors.  Calculate inventory turnover.


	Moderate
	25-30

	7A
	Calculate ratios and comment.


	Simple
	15-20

	*8A
	Apply perpetual cost flow assumptions. Calculate gross profit.


	Moderate
	30-40

	*9A
	Apply perpetual FIFO and average cost flow assumptions. Answer questions about financial statement effects.


	Moderate
	35-45

	*10A
	Apply FIFO cost flow assumption in perpetual and periodic inventory systems.


	Moderate
	30-40

	*11A
	Determine inventory loss using gross profit method.


	Moderate
	20-30

	*12A
	Determine ending inventory using retail method.


	Moderate
	20-30

	*13A
	Determine ending inventory using retail method and comment. Prepare partial income statement.


	Moderate
	25-35

	1B
	Identify items in inventory.


	Moderate
	20-25

	2B
	Apply periodic cost flow assumptions. Prepare income statements and answer questions.


	Moderate
	25-30

	3B
	Apply periodic FIFO and average cost flow assumptions. Prepare income statements and answer questions.


	Moderate
	20-25


ASSIGNMENT CHARACTERISTICS TABLE (Continued)

	Problem Number


	Description
	Difficulty Level
	Time 

Allotted (min.)

	4B
	Record transactions using periodic average cost. Apply lower of cost and market.


	Moderate
	25-30

	5B
	Determine effects of inventory errors.


	Complex
	25-30

	6B
	Determine effects of inventory errors. Calculate gross profit.


	Moderate
	25-30

	7B
	Calculate ratios and comment.


	Simple
	15-20

	*8B
	Apply perpetual cost flow assumptions. Calculate gross profit.


	Moderate
	30-40

	*9B
	Apply perpetual FIFO and average cost flow assumptions. Answer questions about financial statement effects.


	Moderate
	35-45

	*10B
	Apply average cost flow assumption in perpetual and periodic inventory systems.


	Moderate
	30-40

	*11B
	Determine inventory loss using gross profit method.


	Moderate
	20-30

	*12B
	Determine ending inventory using retail method.


	Moderate
	20-30

	*13B
	Determine ending inventory using gross profit method and comment. Prepare partial income statement.


	Moderate
	25-35


BLOOM’S TAXONOMY TABLE

Correlation Chart between Bloom’s Taxonomy, Study Objectives and End-of-Chapter Material

	Study Objective
	Knowledge
	Comprehension
	Application
	Analysis
	Synthesis
	Evaluation

	1.
Describe the steps in determining inventory quantities.
	BE6-1

E6-1
	Q6-1

Q6-2

Q6-3


	BE6-2

E6-2

P6-1A

P6-1B
	P6-5A

P6-5B
	
	

	2.
Calculate ending inventory and cost of goods sold in a periodic inventory system using inventory cost flow assumptions.


	Q6-5
	Q6-4

Q6-6

Q6-7
	BE6-3

BE6-4

*BE6-14

E6-3

E6-4

E6-5

E6-6

*E6-12

*E6-13

P6-2A

P6-3A

P6-4A

*P6-10A

P6-2B

P6-3B

P6-4B

*P6-10B
	
	
	

	3.
Determine the effects of inventory cost flow assumptions and inventory errors on the financial statements.


	
	Q6-7

Q6-8

Q6-9

Q6-10

Q6-11

Q6-12

Q6-13

BE6-5

BE6-6


	E6-5

E6-6

P6-2A

P6-3A

P6-4A

*P6-9A

*P6-10A

P6-2B

P6-3B

P6-4B

*P6-9B

*P6-10B
	BE6-7

BE6-8

E6-7

E6-8

P6-5A

P6-6A

P6-5B

P6-6B
	
	

	4.
Demonstrate the presentation and analysis of inventory. 


	Q6-18
	Q6-14

Q6-15

Q6-17


	BE6-9

BE6-10

BE6-11

E6-9

E6-10

P6-4A

P6-4B
	Q6-16

P6-6A

P6-7A

P6-6B

P6-7B
	
	

	*5
Calculate ending inventory and cost of goods sold in a perpetual inventory system using inventory cost flow assumptions (Appendix 6A).


	*Q6-20
	*Q6-19


	*BE6-12

*BE6-13

*BE6-14

*E6-11

*E6-12

*E6-13

*P6-8A

*P6-9A

*P6-10A

*P6-8B

*P6-9B

*P6-10B
	
	
	


BLOOM’S TAXONOMY TABLE (Continued)

	Study Objective
	Knowledge
	Comprehension
	Application
	Analysis
	Synthesis
	Evaluation

	*6. Estimate ending inventory using the gross profit and retail inventory methods (Appendix 6B)


	*Q6-21
	*Q6-22
	*BE6-15

*BE6-16

*E6-14

*E6-15

*P6-11A

*P6-12A

*P6-13A

*P6-11B

*P6-12B

*P6-13B
	*E6-16
	
	

	Broadening Your 

Perspective
	
	
	BYP6-3

BYP6-4

BYP6-5
	BYP6-1

BYP6-2
	Continuing Cookie Chronicle
	


ANSWERS TO QUESTIONS

1.
Taking a physical inventory involves counting, weighing or measuring each kind of inventory on hand. This is normally done when the store is closed. Tom will probably count items, and mark the quan​tity, description, location and inventory number on prenumbered inventory tags. Retailers, such as a hardware store, generally have thousands of different items to count. Later, unit costs will likely be applied to the inventory quantities using either specific identification or an assumed cost flow method.

2.
Inventory errors can occur because quantities may be seriously miscounted if goods in transit at the statement date are ignored. The company may have purchased and taken ownership of goods that have not yet been received and this should be included in the inventory count. On the other hand it may have goods that are being delivered to a customer that are still owned by the seller. These should also be included in the inventory count and the sale should not be recorded until after the goods are delivered.
3.
Consigned goods are goods held on a company’s premises (the consignee), but belong to someone else (the consignor). The consignee agrees to sell the goods for a fee but never takes ownership of the goods even though the goods are physically located on the consignee’s premises. Therefore, the consignor, not the consignee, owns the goods and should include them in inventory.

4.
Actual physical flow may be impractical because many items are indistinguishable from one another. And, even if the items are individually identifiable, it may be too costly and too complex to track the physical flow of each inventory item. Actual physical flow may also be inappropriate because management may be able to manipulate net income through specific identification of items sold.

5.
(a) 
FIFO


(b) 
LIFO


(c)
Average cost

6.
No, he is not correct. The FIFO cost flow assumption assumes that the goods that were purchased the earliest are the first ones to be sold. The cost of the oldest units is used first to calculate cost of goods sold not ending inventory. 

QUESTIONS (Continued)
7.
(a)
Because the specific identification method requires that records be kept of the original cost of each individual inventory item, it is possible to manipulate the cost of goods sold by deliberately selecting to sell inventory items with higher or lower costs.
(b)
Because goods that are purchased late in a period are assumed to be available for the first sale under the LIFO cost flow assumption, income could be manipulated by a last-minute end-of-period purchase of inventory.

8.
(a)
Cash: No effect. The cash impact of the purchase and sale is the same regardless of which inventory cost flow assumption is chosen. The inventory cost flow assumption simply allocates the cost of goods available for sale between cost of goods sold and ending inventory


(b)
Ending inventory: In a period of declining prices, FIFO will produce a lower ending inventory as inventory is costed using the most recent (lower) prices; Average will produce a higher ending inventory as ending inventory is costed at an average of all the amounts purchased during the accounting period.


(c)
Cost of goods sold: The cost of goods sold effect is opposite to that of ending inventory. Hence, cost of goods sold will be higher under FIFO and lower under average cost.


(d)
Net income: Because of the effect on the cost of goods sold, net income will be lower under FIFO and higher under average cost.
9.
Plato Company is using the FIFO cost flow assumption. York Company is using the LIFO cost flow assumption. Under FIFO, the latest goods purchased remain in inventory. Thus, the inventory on the balance sheet should be close to current costs. The reverse is true of the LIFO cost flow assumption. 


Plato Company will have the higher gross profit, because cost of goods sold will include a higher pro​portion of goods purchased at earlier (lower) costs.

10.
No. Selection of an inventory cost flow assumption is a management decision made to best match expenses to revenues. Furthermore, the accounting principle of consistency requires that once a method has been chosen it should be used every year unless there is a change in circumstances.

QUESTIONS (Continued)

11.
Swift Company may experience cash shortages if this policy continues. FIFO results in higher net income than other cost flow assumptions during a period of inflation. Net income is calculated with cost of goods sold based on earlier, lower costs while the inventory must be replaced at current, higher costs. Consequently, some of this income is “illusory”—it exists only because of the choice of cost flow assumption. If a large portion of Swift Company’s net income is being withdrawn by the owner, it is possible that sufficient capital is not being retained and reinvested in inventory to maintain inventory levels. 

12.
(a)
Mila Company's 2007 net income will be understated (U) $5,000. 

	Beginning inventory
	
	
	Sales
	

	+ Purchases
	
	
	- Cost of goods sold
	O $5,000

	Cost of goods available for sale
	
	
	Gross profit/Net income
	U $5,000

	- Ending inventory
	U $5,000
	
	
	

	Cost of goods sold
	O $5,000
	
	
	



(b)
Mila’s 2008 net income will be overstated (O) $5,000 since the ending inventory of 2007 becomes the beginning inventory of 2008.

	Beginning inventory
	
	
	Sales
	

	+ Purchases
	U $5,000
	
	- Cost of goods sold
	U $5,000

	Cost of goods available for sale
	U $5,000
	
	Gross profit/Net income
	O $5,000

	- Ending inventory
	0000000
	
	
	

	Cost of goods sold
	U $5,000
	
	
	



(c) 
The combined net income for the two years will be correct because the errors offset each other (U $5,000 in 2007 and O $5,000 in 2008).

13.
It is necessary to correct the error because users of the financial statements look at the results for individual years and also look at any trends. 

QUESTIONS (Continued)
14.
Lucy should know the following:

(a)
A departure from the cost basis of accounting for inventories is justified when the utility (revenue-producing ability) of the goods is no longer as great as its cost. The write down to market should be recognized in the period in which the price decline occurs.

(b) Market means net realizable value—estimated selling price less any estimated costs required to complete the sale. 

15.
Agree. Effective inventory management is frequently the key to successful business operations. Management attempts to maintain sufficient quantities and types of goods to meet expected cus​tomer demand. It also seeks to avoid the cost of carrying inventories that are clearly in excess of anticipated sales.
16.
An inventory turnover ratio that is too high may indicate that the company is losing sales opportunities because of inventory shortages. Inventory outages may also cause customer ill will and result in lost future sales. An inventory turnover ratio that is too low may indicate that the company has excess inventory which is not being sold and may be obsolete and as a result, the company may be spending too much to carry its inventory.
17.
An increase in the days in inventory ratio from one year to the next would be seen as deterioration in the company’s efficiency in managing inventory. It means that more inventory is being held relative to sales.
18.
Wabanaki Company should disclose (1) the major inventory classifications, (2) the cost flow assumption used (specific identification, FIFO, average cost, or LIFO), and (3) the amount of any write-downs to net realizable value or reversals of previous write-downs, including the reason why the write-down was reversed.

*19.
Although FIFO produces the same amount for ending inventory in both a periodic and a perpetual inventory system, the use of a perpetual inventory system allows management to better monitor inventory levels and results in better inventory control. The decision to use a periodic or perpetual inventory system is determined based on the importance that management places on being able to monitor its inventory levels throughout the year independent of the cost flow assumption used by the organization. That is, the cost of using a perpetual inventory system may outweigh the benefits of monitoring inventory or vice-versa.
QUESTIONS (Continued)

*20. 
In a periodic system, the average is a weighted average calculated at the end of the period based on total goods available for sale for the entire period. In a perpetual system, the average is calculated after each purchase (goods available for sale in dollars ÷ goods available for sale in units). A new average must be calculated with each purchase and thus the average becomes a moving average. 
*21.
Inventories must be estimated when (1) a company uses the periodic inventory system and management wants interim (monthly or quarterly) financial statements but a physical inventory is only taken annually, or (2) a fire or other type of casualty makes it impossible to take a physical inventory. An estimate of the inventory can also help to test the reasonableness of the actual inventory when a physical count is done.
*22.
The gross profit method uses an average gross profit margin based on previous year’s results and applies it to net sales to estimate the cost of goods sold. The estimated cost of goods is subtracted from the goods available for sale to arrive at the estimated ending inventory.


The retail inventory method calculates an average cost to retail percentage. This percentage is determined by dividing goods available for resale at cost divided by good available for sale at retail. This ratio is then applied to the ending inventory at retail to estimate the ending inventory at cost. The retail inventory method approximates results that would have resulted had the average cost flow assumption been used.

SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 6-1

1.
Ownership of the goods belongs to the consignor (Helgeson). Thus, these goods should be included in Helgeson’s inventory.

2.
The goods in transit should be included in inventory as title passes to the buyer when the public carrier accepts the goods from the seller.

3.
The goods being held belong to the customer. They should not be included in Helgeson’s inventory.

4.
Ownership of these goods rests with the other company (the consignor). These goods should not be included in Helgeson’s inventory.

5.
The goods in transit to a customer should not be included in inventory as title passes to the buyer when the public carrier accepts the goods from the seller.
BRIEF EXERCISE 6-2

The correct cost of inventory is:

Total cost per inventory count
$65,000
Less:

Inventory on consignment
(5,000)
Inventory held for alterations
(750)
Add:

Goods shipped FOB shipping point prior to Aug. 31
3,750

Freight on inventory purchases
       150
Correct inventory cost at August 31
$63,150

BRIEF EXERCISE 6-3

Cost of Goods Available for Sale

Date 
Units 
Unit Cost 
Total Cost
Jan. 
3
3
$1,000
$3,000
Jan. 
20
2
$1,200
  2,400
Total

5

$5,400
(a) Specific Identification

Ending Inventory

Cost of Goods Sold



Unit
Total
Date
Units
Cost
Cost

Jan. 
3
2
$1,000
$2,000
Cost of goods available for sale
$5,400

Jan. 20
1
1,200
  1,200
Less: Ending inventory
  3,200
Total
3

$3,200
Cost of goods sold
$2,200
Proof of cost of goods sold:

Date 
Units 
Unit Cost 
Total Cost
Jan. 
3 
1 
$1,000
$1,000
Jan. 
20
1
$1,200
  1,200
Total

2

$2,200
(b)
FIFO
Ending Inventory

Cost of Goods Sold



Unit
Total
Date
Units
Cost
Cost

Jan. 
20
2
$1,200
$2,400
Cost of goods available for sale
$5,400

Jan.   3
1
1,000
  1,000
Less: Ending inventory
  3,400
Total
3

$3,400
Cost of goods sold
$2,000
Proof of cost of goods sold:

Date 
Units 
Unit Cost 
Total Cost
Jan. 
3 
2
$2,000
$2,000
BRIEF EXERCISE 6-3 (Continued)

(c) Average

Average cost per unit $5,400 ÷ 5 units = $1,080 per unit
Ending inventory: 3 units x $1,080 per unit = $3,240

Cost of good sold: $5,400 - $3,240 = $2,160

Proof of cost of goods sold: 2 units x $1,080 per unit = $2,160

(d)
LIFO
Ending Inventory

Cost of Goods Sold



Unit
Total 
Cost of goods available for sale
$5,400
Date
Units
Cost
Cost 
Less: Ending inventory
  3,000
Jan. 3
3
$1,000
$3,000
Cost of goods sold
$2,400
Proof of cost of goods sold:

Date 
Units 
Unit Cost 
Total Cost
Jan. 
20
2
$1,200
$2,400
BRIEF EXERCISE 6-4

Goods Available for Sale

	
	Units
	Unit Cost
	Total Cost

	1st purchase
	250
	$6
	$1,500

	2nd purchase
	400
	7
	  2,800

	3rd purchase
	   350
	8
	  2,800

	Goods available for sale
	1,000
	
	ADVANCE \r0$7,100

	Ending inventory in units
	   400
	
	

	Number of units sold
	   600
	
	


(a)
FIFO


Ending Inventory:

Purchase
Units
Unit Cost
Total Cost

3rd 

350
$8
$2,800

2nd 

  50
7
    350

Total

400

$3,150
Cost of goods sold: $7,100 - $3,150 = $3,950

Proof of cost of goods sold:

Purchase
Units
Unit Cost
Total Cost

1st

250
$6
$1,500

2nd 

350
7
  2,450

Total

600

$3,950

(b) Average


Average unit cost: $7,100 ( 1,000 units = $7.10 per unit

Ending Inventory: 400 units x $7.10 per unit = $2,840

Cost of Goods Sold: $7,100 - $2,840 = $4,260

Proof of cost of goods sold:

600 units x $7.10 per unit = $4,260

BRIEF EXERCISE 6-4 (Continued)

(c)
LIFO


Ending Inventory:

Purchase
Units
Unit Cost
Total Cost

1st 

250
$6
$1,500

2nd 

150
7
  1,050

Total

400

$2,550
Cost of goods sold: $7,100 - $2,550 = $4,550

Proof of cost of goods sold:

Purchase
Units
Unit Cost
Total Cost

3rd 

350
$8
$2,800

2nd 

250
7
  1,750

Total

600

$4,550
BRIEF EXERCISE 6-5

(a) FIFO

(b) LIFO

(c) Specific Identification

(d) LIFO

BRIEF EXERCISE 6-6

(a) LIFO gives the highest inventory valuation when prices are falling. This is because the cost of the units purchased earlier, at a higher cost, are assumed to be still in inventory.

(b) FIFO gives the highest cost of goods sold amount. This is because the cost of the units purchased earlier, at a higher cost, are assumed to have been sold first and are allocated to cost of goods sold.

(c)
The selection of a cost flow assumption does not affect cash flow. The cost flow assumption is a method of allocating costs to cost of goods sold and ending inventory. It does not involve the inflow or outflow of cash.

(d)
In selecting a cost flow assumption, the company should consider their type of inventory and its actual physical flow. While it is not essential to match the actual physical flow to the cost flow assumption, it does give the company an indication as to its flow of costs throughout the period. What is most important is choosing an assumption that best matches these costs to the revenue they generate.
BRIEF EXERCISE 6-7

The overstatement of ending inventory caused cost of goods sold to be understated $7,000 and net income to be overstated $7,000. The correct net income for 2007 is $83,000 ($90,000 - $7,000).

	Beginning inventory
	
	Sales
	

	+ Purchases
	
	- Cost of goods sold
	U $7,000

	Cost of goods available for sale
	
	Gross profit / Net income
	O $7,000

	- Ending inventory
	O $7,000
	
	

	Cost of goods sold
	U $7,000
	
	


Total assets and owner’s equity in the balance sheet will both be overstated by the amount that ending inventory is overstated, $7,000. Remember that if net income is overstated, then owner’s equity is also overstated as net income is a component of owner’s equity. Check your work by ensuring that the accounting equation balances.

A

= 
L + OE

O $7,000
= 
O $7,000

BRIEF EXERCISE 6-8

	
	Assets =
	Liabilities +
	Owner’s Equity

	2007
	O$25,000
	No Effect
	O$25,000

	2008
	No Effect
	No Effect
	No Effect


2007
	Beginning inventory
	
	Sales
	

	+ Purchases
	
	- Cost of goods sold
	U $25,000

	Cost of goods available for sale
	
	Gross profit/Net income
	O $25,000

	- Ending inventory
	O $25,000
	
	

	Cost of goods sold
	U $25,000
	
	


Note that if Net Income is overstated $25,000, then Owner’s Equity is also overstated $25,000.

2008
	Beginning inventory
	O $25,000
	
	Sales
	

	+ Purchases
	

	
	- Cost of goods sold
	O $25,000

	Cost of goods available for sale
	O $25,000
	
	Gross profit/Net income
	U $25,000

	- Ending inventory
	

	
	
	

	Cost of goods sold
	O $25,000
	
	
	


Note that if net income is understated $25,000 and added to the prior year’s overstatement of $25,000, the two errors cancel out. The Owner’s Equity at the end of the period is correct. The ending inventory is also correct at the end of 2008.

BRIEF EXERCISE 6-9

(a)
	Inventory Categories
	 
	Cost
	 
	Market
	 
	LCM

	 
	 
	 
	 
	 
	 
	 

	Cameras
	
	$12,000 
	
	$11,200 
	
	$11,200 

	MP3 players
	
	9,000
	
	9,500
	
	9,000

	DVD players
	
	  14,000
	
	  11,800
	
	  11,800

	Total
	
	$35,000 
	
	$32,500 
	
	$32,000 


(b)
The entry to record the adjustment would be:



Cost of goods sold


3,000




Merchandise inventory


3,000




($35,000 - $32,000)

BRIEF EXERCISE 6-10
(a) The correct ending inventory should be $52,500.
The correct cost of goods sold should be $312,300

[$310,100 + ($54,700 - $52,500)]

(b)
There is no entry to record the write down to net realizable value if the company is using the periodic inventory system. Instead of using $54,700, they would use $52,500 when the accounting cycle is competed and the inventory account is updated. 
BRIEF EXERCISE 6-11
Cost of goods sold = $ 22,250 + $300,000 - $27,750 = $294,500

Inventory turnover = 11.8 times {$294,500 ÷ [($22,250 + $27,750) ÷ 2]}
Days sales in inventory = 30.9 days (365 ÷ 11.8)

*BRIEF EXERCISE 6-12

(a) 
FIFOADVANCE \u6
ADVANCE \d1
	
	Purchases
	Cost of 
Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 7
	50
	$10
	$500
	
	
	
	50
	$10
	$500

	June 1
	
	
	
	32
	$10
	$320
	18
	10
	180

	July 28
	27
	15
	405
	
	
	
	18

27
	10

15
	585

	Aug. 27
	00
	
	00  0
	18

15
	10

15
	  405
	12
00
	15


	  180

	Total
	77
	
	$905
	65
	
	$725
	12
	
	$180


(b) Average

	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 7
	50
	$10
	$500
	
	
	
	50
	$10
	$500

	June 1
	
	
	
	32
	$10
	$320
	18
	10
	180

	July 28
	27
	15
	405
	
	
	
	45
	13
	585

	Aug. 27
	00
	
	0000
	33
	13
	  429
	12
	13
	  156

	Total
	77
	
	$905
	65
	
	$749
	12
	
	$156


(c) LIFO

	
	Purchases
	Cost of 
Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 7
	50
	$10
	$500
	
	
	
	50
	$10
	$500

	June 1
	
	
	
	32
	$10
	$320
	18
	10
	180

	July 28
	27
	15
	405
	
	
	
	18

27
	10

15
	585

	Aug. 27
	00
	
	00  0
	27
  6
	15

10
	  465
	12
00
	10


	120

0  00

	Total
	77
	
	$905
	65
	
	$785
	12
	
	$120


*BRIEF EXERCISE 6-12 (Continued)
Recap:

	
	FIFO
	Average
	LIFO

	Cost of goods sold
	$725
	$749
	$785

	Ending inventory
	  180
	  156
	  120

	Cost of goods available for sale
	$905
	$905
	$905


*BRIEF EXERCISE 6-13

(a) 
FIFOADVANCE \u6


ADVANCE \d1
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 
2
	250
	$6
	$1,500
	
	
	
	250
	$6
	$1,500

	
3
	400
	7
	2,800
	
	
	
	250

400
	6

7
	4,300

	
10
	
	
	
	250

25
	$6

7
	$1,675
	375
	7
	2,625

	
15
	350
	8
	2,800
	
	
	
	375

350
	7

8
	5,425

	
25
	35  0
	
	3    50
	325
	7
	  2,275
	50

350
	7

8
	  3,150

	Total
	1,000
	
	$7,100
	600
	
	$3,950
	400
	
	$3,150


(b) 
Average

	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May
2
	250
	$6
	$1,500
	
	
	
	250
	$6.00
	$1,500

	
3
	400
	7
	2,800
	
	
	
	650
	6.62
	4,300

	
10
	
	
	
	275
	$6.62
	$1,821
	375
	6.62
	2,479

	
15
	350
	8
	2,800
	
	
	
	725
	7.28
	5,279

	
25
	35   0
	
	3     50
	325
	7.28
	  2,366
	400
	7.28
	  2,913

	Total
	1,000
	
	$7,100
	600
	
	$4,187
	400
	
	$2,913


*BRIEF EXERCISE 6-13 (Continued)

Recap:

	
	FIFO
	Average

	Cost of goods sold
	$3,950
	$4,187

	Ending inventory
	3,150
	2,913

	Goods available for sale
	$7,100
	$7,100


*BRIEF EXERCISE 6-14
(a) 
FIFO Periodic

Date

Account Titles and Explanation
Debit
Credit
Jan.
3
Accounts Receivable

2,500




Sales (500 x $5)


2,500


9
Purchases (1,000 x $4)

4,000




Accounts Payable


4,000


15
Cash

6,400




Sales (800 x $8)


6,400

*BRIEF EXERCISE 6-14 (Continued)
(b)
FIFO Perpetual

Date

Account Titles and Explanation
Debit
Credit
Jan.
3
Accounts Receivable

2,500




Sales (500 x $5)


2,500



Cost of Goods Sold

1,500




Inventory (500 x $3)


1,500


9
Inventory (1,000 x $4)

4,000




Accounts Payable


4,000


15
Cash

6,400




Sales (800 x $8)


6,400



Cost of Goods Sold 


(200 x $3 + 600 x $4)

3,000




Inventory


3,000

*BRIEF EXERCISE 6-15

Net sales

$350,000

Less:  Estimated gross profit (40% x $350,000)

  140,000
Estimated cost of goods sold

$210,000
Cost of goods available for sale ($60,000 + $250,000)

$310,000

Less:  Estimated cost of goods sold

  210,000

Estimated cost of ending inventory

$100,000
*BRIEF EXERCISE 6-16

	
	
	At Cost
	
	At Retail

	 Goods available for sale

 Net sales

 Ending inventory at retail
	
	$35,000
	
	$50,000

  40,000
$10,000


Cost-to-retail ratio = $35,000 ÷ $50,000 = 70%

Estimated cost of ending inventory = $10,000 x 70% = $7,000
SOLUTIONS TO EXERCISES

EXERCISE 6-1

1. Do not include – Shippers does not own items held on consignment.

2. Include in inventory – Shippers still own the items as they were only shipped on consignment.

3. Do not include in inventory – Shipping terms FOB destination means that Shippers do not own the items until they reach them.

4. Include in inventory – Because the shipping terms are FOB destination, Shippers owns the goods until they arrive at the customers premises.
5. Do not include in inventory – Shipping terms FOB shipping point means that ownership transferred at the time of shipping and therefore, the customer owns the goods in transit.

6. Include in inventory - Because the shipping terms are FOB shipping point, ownership has transferred to Shippers. The Shippers Company should record this amount as a purchase on the income statement.

7. Include in inventory – Because freight costs paid on inventory is part of the cost of the merchandise purchased.

8. Do not include in inventory – Because freight costs paid by the seller are freight-out or delivery expense and included in operating expenses, not as part of the cost of inventory.
9. Do not include in inventory - record as supplies inventory on the balance sheet.

EXERCISE 6-2

Ending inventory—physical count

$281,000

Adjustments:
1.
Add to inventory:  Title remains with Moghul until


buyer receives goods

35,000
2.
Add to inventory:  Title passed to Moghul when 

goods were shipped

95,000
3.
No effect:  Title does not transfer to Moghul until 

goods are received

0
4.
No effect:  Title passes to purchaser upon 

shipment when terms are FOB shipping point

0
5.
No effect:  Title does not transfer to Moghul until 

goods are received

0
6.
Add to inventory: Consignor (Moghul) own goods

    30,500


$441,500

EXERCISE 6-3

(a) 
Each item of inventory could be marked, tagged, or coded with its specific unit cost. Items that are still in inventory at the end of the year are specifically costed to determine the total cost of the ending inventory.
(b)
It could choose to sell specific units purchased at specific costs if it wished to impact income selectively. If it wished to maximize income, it would choose to sell the units purchased at lower costs. In this case, the cost of goods sold would be $850 [(#1056) $400 + (#1045) $450]. The gross profit would be $650 [(2 x $750) – $850]. The ending inventory would be $500 (#1012). If it wished to minimize net income, it would choose to sell the units purchased at higher costs. In this case, the cost of goods sold would be $950 [(#1012) $500 + (#1045) $450]. The gross profit would be $550 [(2 x $750) – $950]. The ending inventory would be $400 (#1056).
(c)
Specific identification tracks the actual physical flow (movement) of the goods and is considered the ideal method for determining cost. This method reports ending inventory at actual cost and matches the cost of goods sold against sales revenue.

(d) 
In this situation I recommend Discount use the specific identification instead of one of the cost flow assumptions. Specific identification is practical when a company sells a limited number of high-unit-cost items that can be clearly identified from purchase through to sale.


Note to Instructor: This answer may vary depending on the cost flow assumption the student chooses.
EXERCISE 6-4

FIFO

ADVANCE \d6Ending Inventory:

	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	May 24
May 15
	
	15
10
25
	
	$12
11
	
	$180
  110

$290


Cost of Goods Sold: $915 - $290 = $625

Proof of Cost of Goods Sold:ADVANCE \d1
	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	May  1

May 15


	
	30

35
65
	
	$08

011

0
	
	$240

  385
$625


Average
Average unit cost: $915 ÷ 90 units = $10.17 (rounded) per unit
Ending Inventory: 25 units x $10.17 per unit = $254 (rounded)

Cost of Goods Sold: $915 - $254 = $661

Proof of Cost of Goods Sold: 65 units x $10.17 per unit = $661 (rounded)

EXERCISE 6-5

(a) 

	Cost of Goods Available for Sale

	Date
	Units
	Unit Cost
	Total
Cost

	June
1
	150
	$5
	$  750

	
12
	230
	6
	1,380

	
16
	495
	8
	3,960

	
23
	   175
	9
	  1,575

	Total
	1,050
	
	$7,665


1. 
FIFO
Ending Inventory:

	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	June 23
16
	
	175
    5

180
	
	$9
8
	
	$1,575
       40
$1,615


Cost of Goods Sold: $7,665 - $1,615 = $6,050

Proof of Cost of Goods Sold:ADVANCE \d1
	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	June  1
12
16

	
	150
230
490
870*
	
	
$  5

6

8

	
	$  750
1,380
  3,920
$6,050



* 870 = 1,050 - 180
2. 
Average

Average unit cost: $7,665 ÷ 1,050 units = $7.30 per unit
Ending inventory: 180 units x $7.30 per unit = $1,314
Cost of goods sold: $7,665 - $1,314 = $6,351

Proof of cost of goods sold: 870 units x $7.30 per unit = $6,351
EXERCISE 6-5 (Continued)
(b)
The average cost is not $7 because the average cost flow assumption uses a weighted average unit cost, not a simple average of unit costs ($5 + $6 + $8 + $9 = $28 ÷ 4 = $7).
(c) The FIFO cost flow assumption will produce the higher ending inventory because costs have been rising. Under this assumption, the earliest costs are assigned to cost of goods sold, and the latest costs remain in ending inventory. For Dene Company, the ending inventory under FIFO is $1,615 compared to $1,314 under average cost.

ADVANCE \d6(d)
The average cost flow assumption will produce the higher cost of goods sold for Dene Company. Under the average cost flow assumption some of the most recent costs are averaged into cost of goods sold, and the earliest costs are averaged into the ending inventory. The cost of goods sold is $6,351 compared to $6,050 under FIFO.

(e)
The choice of inventory cost flow assumption does not affect cash flow. It is an allocation of costs between inventory and cost of goods sold.
EXERCISE 6-6

(a)  
LIFO
Ending Inventory:

	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	June 1

12
	
	150
  30
180
	
	$5
6
	
	$750
  180
$930


Cost of Goods Sold: $7,665 - $930 = $6,735
Proof of Cost of Goods Sold:ADVANCE \d1
	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	June 23
16
12

	
	175
495
200
870
	
	
$9

8

6

	
	
$1,575

3,960


  1,200

$6,735


ADVANCE \d6(b)
	
	Cost of Goods Sold
	Ending Inventory

	FIFO
	$6,050
	$1,615

	Average
	6,351
	1,314

	LIFO
	6,735
	930


Ending inventory is lower under the LIFO cost flow assumption because the earliest prices are used in the calculation of ending inventory and the prices have been rising. Conversely the cost of goods sold is highest under LIFO because the most recent prices, the highest ones, are assigned to cost of goods sold.

EXERCISE 6-7

(a)

SELES HARDWARE

Income Statement (Partial)

2008
2007
Beginning inventory

$  32,000
$  30,000
Cost of goods purchased

  160,000
  175,000
Cost of goods available for sale

192,000
205,000
Corrected ending inventory

    29,000a
    32,000b
Cost of goods sold

$163,000
$173,000
ADVANCE \u3aADVANCE \d3

ADVANCE \r0$25,000 + ADVANCE \r0$4,000 = $29,000

ADVANCE \u3bADVANCE \d3$35,000 - $3,000 = $32,000

(b)
In 2007 cost of goods sold is understated by $3,000, the amount of the error in ending inventory.


In 2008 both errors have an impact. The net effect is an overstatement of cost of goods sold by $7,000. This is a result of the $3,000 overstatement of the beginning inventory plus $4,000 understatement of ending inventory. 


In total for both years cost of goods sold is overstated by $4,000, the amount of the understatement of ending inventory in 2008. The error in 2007 inventory has been cancelled out over the two years.
(c)
It is important that Seles Hardware correct these errors because users of the financial statements look at the results for individual years and also look at any trends. 

EXERCISE 6-8

(a)

ARUBA COMPANY

Income Statement (Partial)

December 31

2008
2007
Sales

$265,000
$250,000
Cost of goods sold


Beginning inventory

52,000
45,000

Cost of goods purchased

  212,000
  202,000

Cost of goods available for sale

264,000
247,000
Ending inventory ($42,000 + $10,000)

    49,000
    52,000


Cost of goods sold

  215,000
  195,000
Gross profit

$  50,000
$  55,000
(b)
The cumulative effect on total gross profit for the two years is zero, as shown below:

Incorrect gross profits:   $45,000 + $60,000 =
$105,000

Correct gross profits:      ADVANCE \r0$55,000 + $50,000 =
  105,000
Difference

$           0
(c)

2008
2007

Original
$60,000 ÷ $265,000 
$45,000 ÷ $250,000


= 23%
 = 18%


Corrected
$50,000 ÷ $265,000 
$55,000 ÷ $250,000 


= 19%
= 22%

ADVANCE \d6
EXERCISE 6-8 (Continued)

(d)
Dear Mr./Ms. President:


Because your ending inventory of December 31, 2007 was understated by $10,000, your net income for 2007 was understated and net income for 2008 was overstated by $10,000.


In a periodic system, the cost of goods sold is calculated by deducting the cost of ending inventory from the total cost of goods you have available for sale in the period. Therefore, if this ending inventory figure is understated, as it was in December 2007, the cost of goods sold is overstated and therefore net income will be understated by that amount. 


Consequently, this understated ending inventory figure goes on to become the next period’s beginning inventory amount and is a part of the total cost of goods available for sale. Therefore, the mistake repeats itself in the reverse.


Although the cumulative effect of the error over the combined two year period is nil, the effect on each individual year’s income statement is significant. For example, the gross profit margin before correction was 18% in 2007 and increased 5% to 23% in 2008. After the error is corrected, the gross profit margin for 2007 is 22% and it decreased 3% to 19% in 2008.
Another problem is because of the error, the company’s net income appears to be increasing over the two-year period. But when the error is corrected the net income is actually decreasing over the two-year period.

Thank you for allowing me to bring this to your attention. If you have any questions, please contact me at your convenience.


Sincerely,
EXERCISE 6-9

(a) and (b)
	
	
	
	
	
	
	

	
	
	Cost
	
	Market
	
	LCM

	Cameras
	
	
	
	
	
	

	Minolta
	
	$  875 
	
	$  800 
	
	$  800 

	Canon
	
	     980
	
	     994
	
	     980

	Total
	
	  1,855
	
	  1,794
	
	  1,780 

	Light Meters
	
	
	
	
	
	

	Vivitar
	
	1,620
	
	1,548
	
	1,548

	Kodak
	
	  1,150
	
	  1,200
	
	  1,150

	Total
	
	  2,770
	
	  2,748
	
	  2,698

	Total inventory
	
	$4,625
	
	$4,542
	
	$4,478


(c) 
Since the market value of the some of the inventory item are lower than their cost, $4,478 is reported in the financial statements.

(d)
(1)
If Cody uses a periodic inventory system no adjusting entry is required. Cody will use $4,478 as the ending inventory amount in the cost of goods sold calculation on the income statement. This will result in cost of goods sold being $147 higher than if cost of goods sold had been calculated using $4,625 as ending inventory. Cody will also use $4,478 for its ending inventory when the accounting cycle is completed and it updates the inventory account in its closing entries at the end of the accounting period.

(2)
If Cody uses a perpetual system it will record the following adjustment:


Cost of Goods Sold

147




Inventory ($4,625 - $4,478)


147
EXERCISE 6-10

	
	2005
	2004

	Inventory turnover
	2.8 times =

$82,863

[($29,031 + $29,483) ÷ 2]
	2.7 times =


$88,742


[($29,483 + $37,029) ÷ 2]

	Days sales in inventory
	130 days =
365 ÷ 2.8
	135 days =
365 ÷ 2.7

	Gross profit margin
	50.2% =
($166,350 - $82,863)
$166,350
	49.4% =
($175,487 - $88,742)
$175,487


Inventory turnover has increased from 2.7 (2004) to 2.8 (2005). As well, days sales in inventory has decreased from 135 days (2004) to 130 days (2005). Both of these ratios indicate that it is taking a less time to sell inventory.

The gross profit margin has increased from 49.4% to 50.2%. The increase in this ratio indicates either an increase in the selling price or a decrease in the cost of goods sold. An increase in the selling price would not necessarily be consistent with the faster inventory turnover, as customers may not be as willing to purchase the inventory at a higher price. Instead it appears that the increased turnover may have been caused by reductions in inventory levels.
*EXERCISE 6-11

(a) 
(1) FIFO
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	June   1
	
	
	
	
	
	
	150
	$5
	$  750

	June 12
	230
	$6
	$1,380
	
	
	
	150

230
	5

6
	2,130

	June 14
	
	
	
	150

100
	$5

6
	$1,350
	130
	6
	780

	June 16
	495
	8
	3,960
	
	
	
	130
495
	6

8
	4,740

	June 23
	175
	9
	1,575
	
	
	
	130
495
175
	6

8

9
	6,315

	June 26
	350
	
	35     0
	130
490
	6

8
	  4,700
	5

175
	8

9
	  1,615

	Total
	900
	
	$6,915
	870
	
	$6,050
	180
	
	$1,615


Proof: $750 + $6,915 = $6,050 + $1,615
(2) Average
	
	Purchases
	Cost of Goods Sold
	Balance

	June 1
	
	
	
	
	
	
	150
	$5
	$  750

	June 12
	230
	$6
	$1,380
	
	
	
	380
	5.61
	2,130

	June 14
	
	
	
	250
	$5.61
	$1,401
	130
	5.61
	729

	June 16
	495
	8
	3,960
	
	
	
	625
	7.50
	4,689

	June 23
	175
	9
	1,575
	
	
	
	800
	7.83
	6,264

	June 26
	350
	
	35     0
	620
	7.83
	4,855
	180
	7.83
	  1,409

	Total
	900
	
	$6,915
	870
	
	$6,256
	180
	
	$1,409


Proof $750 + $6,915 = $6,256 + $1,409
EXERCISE 6-11 (Continued)

(a) (Continued)

(3) LIFO
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	June 1
	
	
	
	
	
	
	150
	$5
	$   750

	June 12
	230
	$6
	$1,380
	
	
	
	150

230
	5

6
	2,130

	June 14
	
	
	
	230

20
	$6

5
	$1,480
	130
	5
	650

	June 16
	495
	8
	3,960
	
	
	
	130

495
	5

8
	4,610

	June 23
	175
	9
	1,575
	
	
	
	130

495

175
	5

8
9
	6,185

	June 26
	350
	
	35     0
	175
445
	9

8
	  5,135
	130

  50
	5

8
	  1,050

	Total
	900
	
	$6,915
	870
	
	$6,615
	180
	
	$1,050


Proof: $750 + $6,915 = $6,615 + $1,050
EXERCISE 6-11 (Continued)

(b)

	
	Cost of Goods Sold
	Ending Inventory

	FIFO—Periodic
	$6,050
	$1,615

	FIFO—Perpetual
	6,050
	1,615

	
	
	

	Average—Periodic
	6,351
	1,314

	Average—Perpetual
	6,256
	1,409

	
	
	

	LIFO—Periodic
	6,735
	930

	LIFO—Perpetual 
	6,615
	1,050


FIFO:  The results are identical using either the periodic or the perpetual inventory systems. 

Average: Cost of goods sold is $95 lower and ending inventory $95 higher using a perpetual system. This is because in the perpetual system the higher priced purchases are only considered in the last sale; in the periodic system the weighted average is based on all of the purchases and is applied to all of the sales.
LIFO: Cost of goods sold is $120 lower and ending inventory $120 higher using a perpetual system. This is because in the perpetual system the cost of goods on the first sale is calculated using the earlier purchases where the prices were lower; in the periodic system the timing of the sales and the purchases is not relevant and cost of goods sold is weighted more towards the final, higher priced purchases.
*EXERCISE 6-12
 (a)  
FIFO
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Sep. 1
	
	
	
	
	
	
	25
	$295
	$7,375

	Sep. 5
	30
	$300
	$9,000
	
	
	
	25
30
	295
300
	16,375

	Sep. 12
	
	
	
	25
7
	$295
300
	$9,475
	23
	300
	6,900

	Sep. 19
	35
	305
	10,675
	
	
	
	23
35
	300
305
	17,575

	Sep. 22
	
	
	
	23
27
	300
305
	15,135
	8
	305
	2,440

	Sep. 25
	15


	310
	4,650


	

	
	

	8
15
	305
310
	  7,090

	Total
	80
	
	$24,325
	82
	
	$24,610
	23
	
	$7,090


Proof   $7,375 + $24,325 = $24,610 + $7,090
Average
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Sep. 1
	
	
	
	
	
	
	25
	$295.00
	$7,375

	Sep. 5
	30
	$300
	$ 9,000
	
	
	
	55
	297.72
	16,375

	Sep. 12
	
	
	
	32
	$297.72
	$9,527
	23
	297.72
	6,848

	Sep. 19
	35
	305
	10,675
	
	
	
	58
	302.12
	17,523

	Sep. 22
	
	
	
	50
	302.12
	15,106
	8
	302.13
	2,417

	Sep. 25
	15
	310
	   4,650
	

	
	

	23
	307.26
	  7,067

	Total
	80
	
	$24,325
	82
	
	$24,633
	23
	
	$ 7,067


Proof   $7,375 + $24,325 = $24,633 + $7,067
*EXERCISE 6-12 (Continued)

(b)
	Cost of Goods Available

	Date
	Units
	Unit Cost
	Total

Cost

	Sep.
1
	25
	$295
	$  7,375

	Sep.
5
	30
	300
	9,000

	Sep.
19
	35
	305
	10,675

	Sep.
25
	  15
	310
	    4,650

	Total
	105
	
	$31,700


FIFO
Ending Inventory:

	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	Sep. 25
19
	
	15
  8
23
	
	
$310

305
	
	$4,650
  2,440
$7,090


Cost of Goods Sold: $31,700 - $7,090 = $24,610

Proof of Cost of Goods Sold:ADVANCE \d1
	Date
	
	Units
	
	Unit Cost
	
	Total Cost

	Sep.  1
5
19

	
	25

30
27

82
	
	
$295


300

305

	
	
$7,375


9,000

    8,235

$24,610


Average
Average cost per unit: $31,700 ÷ 105 units = $301.90 per unit
Ending inventory: 23 x $301.90 = $6,944 (rounded)

Cost of goods sold: $31,700 - $6,944 = $24,756

Proof of cost of goods sold: 82 x $301.90 = $24,756 (rounded)

*EXERCISE 6-13

(a) 
Perpetual
	
	
	FIFO
	Average

	
	
	Dr.
	Cr.
	Dr.
	Cr.

	Sep. 5
	Inventory

  Accounts Payable
	9,000
	9,000
	9,000
	9,000

	12
	Cash

  Sales

Cost of Goods Sold

  Inventory
	14,368

9,475
	14,368

9,475
	14,368

9,527
	14,368

9,527

	19
	Inventory

  Accounts Payable
	10,675
	10,675
	10,675
	10,675

	22
	Cash

  Sales

Cost of Goods Sold

  Inventory
	22,700

15,135
	22,700

15,135
	22,700

15,106
	22,700

15,106

	25
	Inventory

  Accounts Payable
	4,650
	4,650
	4,650
	4,650


*EXERCISE 6-13 (Continued)

(b) Periodic
	
	
	FIFO
	Average

	
	
	Dr.
	Cr.
	Dr.
	Cr.

	Sep. 5
	Purchases
  Accounts Payable
	9,000
	9,000
	9,000
	9,000

	12
	Cash

  Sales
	14,368


	14,368
	14,368

	14,368

	19
	Purchases
  Accounts Payable
	10,675
	10,675
	10,675
	10,675

	22
	Cash

  Sales
	22,700


	22,700
	22,700


	22,700

	25
	Purchases
  Accounts Payable
	4,650
	4,650
	4,650
	4,650


*EXERCISE 6-14

Net sales ($51,000 - $1,000 - $500)

$49,500

Less:  Estimated gross profit (30% x $49,500)

014,850
Estimated cost of goods sold

$34,650
Beginning inventory

$25,000

Cost of goods purchased 

($31,200 - $1,400 - $300 + $1,200)

   30,700
Cost of goods available for sale

55,700

Less:  Estimated cost of goods sold

034,650
Estimated cost of merchandise 

$21,050
*EXERCISE 6-15


Men’s 
Women’s


Shoes
Shoes

Cost
Retail
Cost
Retail
Beginning inventory
$  36,550
$ 45,000
$  45,000
$ 60,000

Goods purchased
  152,150
179,000
  132,750
177,000
Goods available for sale
$188,700
224,000
$177,750
237,000

Net sales

177,000

180,000
Ending inventory at retail

$ 47,000

$ 57,000
Cost to retail ratio:
$188,700 = 84%
$177,750 = 75%

$224,000
$237,000

Estimated cost of

ending inventory
$47,000 x 84%      
$57,000 x 75%


= $39,480 
= $42,750
*EXERCISE 6-16

(a) 
Net sales ($249,600 + $207,000)

$456,600

Less:  Estimated gross profit (43.75% x $456,600)

0199,763
Estimated cost of goods sold

$256,837
Beginning inventory ($48,000 + $ 35,000)

$  83,000

Cost of goods purchased ($144,000 + $92,500)

0236,500
Cost of goods available for sale

319,500

Less:  Estimated cost of goods sold

0256,837
Estimated cost of ending inventory

$  62,663
*EXERCISE 6-16 (Continued)
(b)


Running Shoes
Running Clothes


Cost
Retail
Cost
Retail
Beginning inventory
$ 48,000
$ 76,800
$ 35,000
$ 70,000
Goods purchased
 144,000
230,400
    92,500
185,000
Goods available for sale
$192,000
307,200
$127,500
255,000
Net sales

249,600

207,000
Ending inventory at retail

$ 57,600

$ 48,000
Cost to retail ratio:
$192,000 = 62.5%
$127,500 = 50%

$307,200
$255,000

Estimated cost of

ending inventory
$57,600 x 62.5%      
$48,000 x 50%


= $36,000 
= $24,000

Total: $36,000 + $24,000 = $60,000

(c)
The two methods do not result in the same estimate. The estimate using the gross profit rate is $62,663 and the estimate using the retail inventory method is $60,000. The difference is because the gross profit rate is based on historic gross margin rate while the retail method is based on the relationship between cost and selling prices. The difference may be a result of a change in the sale mix of the two products. I recommend the retail method be used in this case.

SOLUTIONS TO PROBLEMS

	PROBLEM 6-1A


(a) 
1. 
The goods should not be included in inventory as they were shipped FOB shipping point on February 26. Title to the goods transfers to the customer on February 26, the date of shipping. Since these items were not on the premises, they were not counted in inventory. No correction is required.

2. The amount should not be included in inventory as they were shipped FOB destination and not received until March 2. The seller still owns the inventory. Since these items were not on the premises, they were not counted in the ending inventory valuation. No correction is required.

3. Include $620 in inventory. These goods have not yet been sold.

4. Include $570 in inventory. These goods are owned by Banff Company.

5. $750 should be included in inventory as the goods were shipped FOB shipping point on February 27. Title passes to Banff on February 27, the date of shipping.

6. The sale will be recorded on March 2. The goods should be included in inventory at the end of February at their cost of $360. Since they were in the shipping department, it is assumed they were not included in the inventory count.

PROBLEM 6-1A (Continued)

(a) (Continued)
7. The damaged goods should not be included in inventory because they are not saleable and have no value. They were on the premises and could have easily been included in the count but the problem states these items were not included in the count.  Therefore, no adjustment is required because it was correct to not include them.
8. The unsold portion of these goods $510 ($875 - $365) is owned by Kananaskis Company not Banff Company and should not be included in Banff Company’s count. Therefore, no adjustment is required because it was correct to not include them.
9. As these items have been sold, they should be excluded from Banff’s inventory. Therefore, no adjustment is required because it was correct to not include them.
(b)
$56,000
Original Feb. 29 inventory valuation


+620
3.


+570
4.


+750
5.


     +360
6.


$58,300
Revised Feb. 29 inventory valuation
	PROBLEM 6-2A


(a)
Cost of Goods Available for Sale

Date        
Explanation
Units
Unit Cost
Total Cost

Jan. 
1
Beginning inventory
100
$30
$  3,000

Feb.
20
Purchase
600
32
19,200

May
5
Purchase
300
36
10,800

Oct.
12
Purchase
200
42
8,400

Nov.
8
Purchase
   150
44
    6,600


Total


1,350

$48,000
(b)
(1) FIFO


Ending Inventory:

Date

Units
Unit Cost
Total Cost

Nov. 
8
150
$ 44
$6,600

Oct.
12
  75
42
  3,150



225

$9,750
Cost of goods sold: $48,000 - $9,750 = $38,250

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Jan. 
1
100
$ 30
$  3,000

Feb.
20
600
32
19,200

May
5
300
36
10,800

Oct.
12
   125
42
    5,250



1,125*

$38,250

*1,125 = 1,350 - 225

PROBLEM 6-2A (Continued)

(b) (Continued)



(2) AVERAGE



Average unit cost: $48,000 ( 1,350 units = $35.56 per unit

Ending Inventory: 225 units x $35.56 per unit = $8,000

Cost of Goods Sold: $48,000 - $8,000 = $40,000
Proof of cost of goods sold:
1,125 units x $35.56 per unit = $40,000

(3) LIFO


Ending Inventory:

Date

Units
Unit Cost
Total Cost

Jan.
1
100
$30
$3,000

Feb.
20
125
32
  4,000



225

$7,000
Cost of goods sold: $48,000 - $7,000 = $41,000

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Nov. 
8
150
$44 
$  6,600

Oct.
12
200
42
8,400

May
5
300
36
10,800

Feb.
20
   475
32
  15,200



1,125

$41,000
PROBLEM 6-2A (Continued)

(c)
SAVITA COMPANY

Income Statement

Year ended December 31, 2008
	
	FIFO
	Average
	LIFO

	Sales revenue (1,125 x $70)
	$78,750
	$78,750
	$78,750

	Cost of goods sold
	  38,250
	  40,000
	  41,000

	Gross profit
	$40,500
	$38,750
	$37,750


(d) 
When making a decision on a loan application the bank will be interested in the profitability of the company. I would suggest using FIFO as it results in the highest net income. 

(e) 
One cost flow assumption will not always provide a higher net income. It will depend on whether prices are rising or falling. Savita cannot choose a different cost flow assumption to maximize net income each year. This would violate the consistency characteristic of accounting.

	PROBLEM 6-3A


(a)
TUMATOE COMPANY

Condensed Income Statement

Year Ended December 31, 2008

FIFO
Average
Net sales

$700,000
$700,000
Cost of goods sold


Beginning inventory

56,250
56,250

Cost of goods purchased

  462,500a
  462,500a

Cost of goods available for sale

518,750
518,750

Ending inventory

  111,250b
  103,750c

Cost of goods sold

  407,500
  415,000
Gross profit

292,500
285,000
Operating expenses

  120,000
  120,000
Net income

$172,500
$165,000
a (40,000 x $4) + (50,000 x $4.25) + (20,000 x $4.50) = $462,500
b (20,000 x $4.50) + (5,000 x $4.25) = $111,250

c [25,000 x ($518,750 ÷  125,000)] = $103,750
PROBLEM 6-3A (Continued)

(b)
Dear Tumatoe Company:


After preparing the comparative condensed income statements for 2008 under the FIFO and average cost flow assumptions, we have found the following:

· The FIFO cost flow assumption produces the more meaningful inventory amount for the balance sheet because the units are costed at the most recent purchase price. These prices approximate replacement cost, which is the most relevant value for decision making. 

· The average cost flow assumption produces the more meaningful net income because average costs are matched against current revenues (sales). 

· The FIFO cost flow assumption is most likely to approximate actual physical flow because the oldest goods are usually sold first to minimize spoilage and obsolescence.

· The choice of cost flow assumption does not directly affect cash flow. The amount of cash (spent on purchases) will be the same under either assumption. But the cost flow assumption that results in the highest cost of goods sold, and therefore the lowest net income, will also result in the lowest income taxes. Thus the choice of cost flow assumption will indirectly affect cash flow. 
· In selecting a cost flow assumption, management should consider their circumstances—the type of inventory and the flow of costs throughout the period. Management should also consider their financial reporting objectives. In the final determination, however, management should select the cost flow assumption that will best match their costs with their revenues.


Sincerely,

	PROBLEM 6-4A


	(a)
	GENERAL JOURNAL
	
	

	Date
	Account Titles and Explanation
	Debit
	Credit


(a)
Buyer—Schwinghamer Co.


Oct.
5
Purchases (120 x $14)

1,680





Cash 


1,680



8
Cash (150 x $24)

3,600





Sales


3,600



10
Sales Returns and Allowances

600





Cash (25 x $24)


600



15
Purchases (40 x $13)

520





Cash


520



16
Cash (5 x $13)

65





Purchase Returns and Allowances

65



20
Cash (65 x $18)

1,170




Sales


1,170


25
Purchases (10 x $11)

110





Cash


110

PROBLEM 6-4A (Continued)

(b)
Cost of goods available for sale

Date

Explanation
Units
Unit Cost
Total Cost

Oct. 
1
Beginning inventory
60
$15
$  900


5
Purchase
120
14
1,680


15
Purchase
40
13
520


16
Purchase return
(5)
13
(65)


25
Purchase
  10
11
    110


Total


225

$3,145

Ending Inventory (FIFO):

Date

Units
Unit Cost
Total Cost

Oct. 
25
10
$ 11
$110



15
25
13
  325


35*
$435

*35 = 225 - 150 + 25 - 65
Cost of goods sold: $3,145 - $435 = $2,710

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Oct.
 1
60
$15
$   900



5
120
14
1,680


15
10
13
    130



190*

$2,710

*190 = 150 - 25 + 65

PROBLEM 6-4A (Continued)

(c)
Cost: $435

Market: 35 x $10 = $350

The inventory should be valued at its market value of $350. This is the lower of cost and market. This is a departure from the cost basis of accounting and is an application of the accounting characteristic of conservatism. Conservatism means that when choosing among alternatives, the option that is least likely to overstate the results is selected.

(d)
Cost of goods sold shown as follows on the income statement:


Cost of goods available for sale:
$3,145


Less: ending inventory at market
    350

Cost of goods sold
$2,795

Note: This is different than the amount calculated in (b) because of the write down to market as shown below:

Cost of goods sold per (b)
$2,710


Plus: write down to market ($435 - $350)
      85

Cost of goods sold reported 



on the income statement
$2,795

No journal entry is required in the periodic system to recognize the write down to market value. Instead the company will use the market value of the inventory when calculating cost of goods sold on the income statement and when updating the value of the inventory account when completing the accounting cycle.
(e)
Cost of goods sold ($435 - $350)


85



Merchandise inventory



85
	PROBLEM 6-5A


(a)
	Year Ended December 31, 2006

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $400,000 
	 $250,000 
	 $  300,000 
	 $  40,000 

	Impact of Dec. 31/06 Inventory overstatement
	O15,000 
	O15,000 
	U15,000 
	O15,000 

	Correct amount
	 $385,000 
	 $235,000 
	 $  315,000 
	 $  25,000 

	
	
	
	
	

	Year Ended December 31, 2007

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $450,000 
	 $275,000 
	 $  335,000 
	 $  60,000 

	Impact of Dec. 31/06 Inventory overstatement
	NE
	NE
	O15,000 
	U15,000 

	Impact of Dec. 31/07 Inventory understatement
	U25,000 
	U25,000 
	O25,000 
	U25,000 

	Correct amount
	 $475,000 
	 $300,000 
	 $  295,000 
	 $100,000 

	
	
	
	
	

	Year Ended December 31, 2008

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $475,000 
	 $290,000 
	 $  315,000 
	 $  50,000 

	Impact of Dec. 31/07 Inventory understatement
	NE
	NE
	U25,000 
	O25,000 

	Correct amount
	 $475,000 
	 $290,000 
	 $  340,000 
	 $  25,000 


PROBLEM 6-5A (Continued)

(b)
The errors in calculating the company’s ending inventory will not have an impact on the company’s cash account. The cash balances will be correctly stated at December 31, 2006, 2007 and 2008.
	PROBLEM 6-6A


(a)
(Incorrect)

PELLETIER COMPANY

Income Statement

Year Ended July 31


2006
2007
2008
Sales 
$300,000
$312,000
$324,000
Cost of goods sold


Beginning inventory
25,000
17,000
29,000


Purchases
 250,000
 285,000
 245,000

Cost of goods available for sale
275,000
302,000
274,000


Ending inventory
   17,000
   29,000
   35,000

Cost of goods sold
 258,000
 273,000
 239,000
Gross profit
42,000
39,000
 85,000

Operating expenses
   50,000
   52,000
   54,000
Net income (loss)
$  (8,000)
$(13,000)
$31,000
(Correct)
PELLETIER COMPANY

Income Statement

Year Ended July 31


2006
2007
2008
Sales 
$300,000
$312,000
$324,000
Cost of goods sold


Beginning inventory
25,000
27,000
29,000


Purchases
 250,000
 260,000
 270,000

Cost of goods available for sale
275,000
287,000
299,000


Ending inventory
   27,000
   29,000
   35,000

Cost of goods sold
 248,000
 258,000
 264,000
Gross profit
52,000
54,000
 60,000

Operating expenses
   50,000
   52,000
   54,000
Net income (loss)
$   2,000
$   2,000
$   6,000
PROBLEM 6-6A (Continued)
(b)
The combined effect of the errors at July 31, 2008 before correction is nil. The error in 2006 closing inventory is offset by the error in 2007 opening inventory and the error in the 2007 purchases is offset by the error in 2008 purchases. But the trend over the three years is completely different using the incorrect numbers as compared to the correct numbers.
(c)
Inventory turnover ratio = Cost of goods sold ÷ Average inventory


Incorrect


2006: $258,000 ÷ [($17,000 + $25,000) ÷ 2] = 12.3

2007: $273,000 ÷ [($29,000 + $17,000) ÷ 2] = 11.9

2008: $239,000 ÷ [($35,000 + $29,000) ÷ 2] =   7.5

Correct


2006: $248,000 ÷ [($27,000 + $25,000) ÷ 2] = 9.5

2007: $258,000 ÷ [($29,000 + $27,000) ÷ 2] = 9.2

2008: $264,000 ÷ [($35,000 + $29,000) ÷ 2] = 8.3
	PROBLEM 6-7A


(a)

	
	Inventory Turnover Ratio
	Days Sales in Inventory
	Current Ratio

	2005
	$15,255,008

($3,048,610 + $4,667,950) 
[image: image1.wmf]¸

2
   = 4.0 times
	365
4.0 times

      = 91 days
	$12,770,157
$3,895,903

= 3.3 : 1

	2004
	$13,696,549
($4,667,950 + $4,512,097) 
[image: image2.wmf]¸

 2
   = 3.0 times
	365
3.0 times

      = 122 days
	$9,947,060
$4,014,186

= 2.5 : 1


Big Rock Brewery Income Trust’s current ratio increased significantly in 2005 and is now well above 2. This indicates that Big Rock has sufficient current assets to cover its current liabilities. On the other hand the inventory is moving more slowly than one might expect for a brewery. In 2005, Big Rock’s inventory turnover increased but is still close to 100 days. This may indicate that the company is having trouble selling its inventory, which could have an impact on future liquidity. If the current ratio is high mainly because of high inventory levels then the strong current ratio may be misleading.  But without industry data it is difficult to determine if Big Rock’s inventory is moving too slowly or not.
(b) 
If Big Rock were to switch to FIFO and prices were rising, it would be expected that inventory levels would be higher since inventory would now be carried at the most recent higher costs versus the earlier lower costs. The inventory turnover ratio should decrease since the denominator (average inventory) would be higher and the days in inventory should increase. The current ratio would also increase because current assets would be higher.

	*PROBLEM 6-8A


(a) FIFO

	Date
	Purchases
	Cost of Goods Sold
	Balance

	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	June 1
	
	
	
	
	
	
	30
	$60
	$1,800

	4
	85
	$66
	$5,610 
	
	
	
	30
85
	60

 66 
	7,410

	10
	
	
	
	30
60
	$60

66 
	$5,760 
	25
	 66 
	1,650

	18
	35
	68
	 2,380 
	
	
	
	25
35
	66
 68 
	4,030

	25
	
	
	
	25
25
	66
68 
	 3,350 
	10
	 68 
	680

	26
	
	
	
	(5)
	68
	(340)
	15
	68
	1,020

	28
	  20
	72
	 1,440 
	

	
	

	15
20
	68

 72 
	  2,460

	30
	140
	
	$9,430 
	135
	
	$8,770 
	35
	
	$2,460


Proof $1,800 + $9,430 = $8,770 + $ 2,460 

Average
	Date
	Purchases
	Cost of Goods Sold
	Balance

	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	June 1
	
	
	
	
	
	
	30
	$60.00
	$1,800

	4
	85
	$66
	$5,610
	
	
	
	115
	64.43
	7,410

	10
	
	
	
	90
	$64.43 
	$5,799 
	25
	64.44
	1,611

	18
	35
	68
	 2,380 
	
	
	
	60
	 66.52 
	3,991

	25
	
	
	
	50
	66.52 
	 3,326 
	10
	 66.52 
	665

	26
	
	
	
	(5)
	66.52
	(333)
	15
	66.52
	998

	28
	  20
	72
	 1,440 
	

	
	

	35
	69.66  
	 2,438

	30
	140
	
	$9,430 
	135
	
	$8,792 
	35
	
	$2,438


Proof $1,800 + $9,430 = $8,792 + $ 2,438
*PROBLEM 6-8A (Continued)

(a) (Continued)

LIFO

	Date
	Purchases
	Cost of Goods Sold
	Balance

	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	June1
	
	
	
	
	
	
	030
	 $60 
	$1,800

	4
	085
	$66
	$5,610 
	
	
	
	30
85
	60

 66 
	7,410

	10
	
	
	
	5
0’85
	$60

66 
	$5,910 
	0

25
	 60 
	01,500

	18
	035
	068
	 ‘2,380 
	
	
	
	25
035
	60

 68 
	03,880

	25
	
	
	
	15

0’35
	60

68
	‘3,280
	010
	 60
	0600

	26
	
	
	
	(5)
	60
	(300)
	15
	60
	900

	28
	  20
	0
72
	 1,440 
	

	
	

	15
020
	60

 72
	0 2,340

	30
	140
	
	$9,430 
	‘135
	
	$8,890 
	2535
	,
	$2,340


Proof $1,800 + $9,430 = $8,890 + $ 2,340

(b) 

DANIELLE COMPANY

Income Statement (Partial)

Month Ended June 30, 2008

FIFO
Average
LIFO
Net sales ($8,100 + $4,750 - $475)
$12,375
$12,375
$12,375
Cost of goods sold
   8,770
   8,792
   8,890

Gross profit
   3,605
   3,583
   3,485
(c) 
If Danielle Company had experienced declining prices, the gross profit would be highest under LIFO, lowest under FIFO and the average cost would continue to result in a gross profit between the other two assumptions.

	*PROBLEM 6-9A


(a)
(1) FIFO  

	Date
	Purchases
	Cost of Goods Sold
	Balance

	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Apr. 1
	
	
	
	
	
	
	36
	$210
	$7,560

	8
	
	
	
	18
	$210
	$3,780
	18
	210
	3,780

	23
	50
	$202
	$10,100
	
	
	
	18
50
	210
202
	13,880

	26
	
	
	
	18
32
	210
202
	10,244
	18
	202
	3,636

	May 9
	24
	198
	4,752
	
	
	
	18
24
	202

198
	8,388

	21
	

	
	

	18
  14
	202

198
	    6,408
	10
	198
	  1,980

	
	74
	
	$14,852
	100
	
	$20,432
	10
	
	$1,980


Proof: $7,560 + $14,852 = $20,432 + $1,980
(2) Average

	Date
	Purchases
	Cost of Goods Sold
	Balance

	
	Unit
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Apr. 1
	
	
	
	
	
	
	36
	$210.00
	$7,560

	8
	
	
	
	18
	$210.00
	$ 3,780
	18
	210.00
	3,780

	23
	50
	$202
	$10,100
	
	
	
	68
	204.11
	13,880

	26
	
	
	
	50
	204.11
	10,206
	18
	204.11
	3,674

	May 9
	24
	198
	4,752
	
	
	
	42
	200.62
	8,426

	21
	

	
	

	 32
	200.62
	   6,420
	10
	200.62
	  2,006

	30
	74
	
	$14,852
	100
	
	$20,406
	10
	
	$2,006


Proof $7,560 + $14,852 = $20,406 + $2,006
*PROBLEM 6-9A (Continued)

 (b) 
(1) FIFO


Apr.
5
Accounts Receivable (18 x $319) 
5,742




Sales


5,742



Cost of Goods Sold

3,780




Merchandise Inventory


3,780


23
Merchandise Inventory

10,100




Accounts Payable


10,100


26
Accounts Receivable (50 x $299)
14,950





Sales


14,950




Cost of Goods Sold 

10,244





Merchandise Inventory


10,244


May
9
Merchandise Inventory

4,752




Accounts Payable


4,752


21
Accounts Receivable (32 x $291)
9,312




Sales


9,312



Cost of Goods Sold 

6,408




Merchandise Inventory


6,408
*PROBLEM 6-9A (Continued)

(b) (Continued) 

(2)  
Average

Apr.
5
Accounts Receivable (18 x $319) 
5,742




Sales


5,742



Cost of Goods Sold

3,780




Merchandise Inventory


3,780


23
Merchandise Inventory

10,100




Accounts Payable


10,100


26
Accounts Receivable (50 x $299)
14,950





Sales


14,950




Cost of Goods Sold

10,206




Merchandise Inventory


10,206

May
9
Merchandise Inventory

4,752




Accounts Payable


4,752


21
Accounts Receivable (32 x $291)
9,312




Sales


9,312



Cost of Goods Sold

6,420




Merchandise Inventory


6,420
*PROBLEM 6-9A (Continued)

(c)

THE GRINDER COMPANY

Income Statement (Partial)

Two Months Ended May 31, 2008

FIFO
Average
Sales ($5,742 + $14,950 + $9,312)

$30,004
$30,004
Cost of goods sold

 20,432
 20,406
Gross profit

   9,572
  9,598
(d) 
The choice of inventory cost flow assumption does not affect cash flow. It is an allocation of costs between inventory and cost of goods sold.

(e)
In selecting a cost flow assumption, Grinder should consider their circumstances—the type of inventory and the flow of costs throughout the period. It should select the method that will best match their costs with their revenues.
	*PROBLEM 6-10A


(a)
(1) FIFO—Perpetual 
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Jan.1
	
	
	
	
	
	
	25
	$60
	$1,500

	 
5
	125
	$64
	$8,000
	
	
	
	25

125
	60
64
	9,500

	 
7
	
	
	
	25

85
	$60
64
	$ 6,940
	40
	64
	2,560

	  14
	30
	68
	2,040
	
	
	
	40

30
	64

68
	4,600

	  20
	
	
	
	40

20
	64

68
	3,920
	10
	68
	680

	21
	
	
	
	(5)
	68
	(340)
	15
	68
	1,020

	25
	  20
	72
	    1,440
	

	
	

	15
20
	68
72
	  2,460

	Total
	175
	
	$11,480
	165
	
	$10,520
	35
	
	$2,460


Proof: $1,500 + $11,480 = $10,520 + $2,460

*PROBLEM 6-10A (Continued)

(a) (Continued)


(2) FIFO—Periodic 

Cost of goods available for sale

Date

Explanation
Units
Unit Cost
Total Cost

Jan. 
1
Beginning inventory
25
$60
$  1,500


5
Purchase
125
64
8,000


14
Purchase
30
68
2,040


25
Purchase
  20
72
   1,440


Total


200

$12,980

Ending Inventory:



Date

Units
Unit Cost
Total Cost

Jan. 
25
20
$ 72
$1,440


14
15
68
 1,020


35
$2,460
Cost of goods sold: $12,980 - $2,460 = $10,520

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Jan.
 1
25
$60
$  1,500



5
125
64
8,000



14
20
68
1,360


21
  (5)
68
    (340)



165

$10,520
(b)
Comparison
	
	Perpetual
	Periodic 

	
	Ending

Inventory
	Cost of Goods Sold
	Ending

Inventory
	Cost of Goods Sold

	FIFO
	$2,460
	$10,520
	$2,460
	$10,520


The numbers are the same because regardless of the system (perpetual or periodic), the first costs are assigned to the cost of goods sold.
	*PROBLEM 6-11A




February

Net sales ($325,000 - $6,500 - $3,000)

$315,500
Cost of goods sold
Beginning inventory

$ 17,500

Net purchases 
  ($218,000 - $4,360 - $2,000)

$211,640
Add:  Freight in

     3,270
Cost of goods purchased

214,910
Cost of goods available for sale

232,410
Less: Ending inventory

  25,200
Cost of goods sold

  207,210
Gross profit

$108,290
Gross profit margin = $108,290 = 34.3%





 $315,500


March

Net sales ($292,500 - $5,850 - $2,700)

$283,950
Less: Estimated gross profit (34.3% x $283,950)

   97,395
Estimated cost of goods sold

$186,555
Beginning inventory

$25,200
Net Purchases ($196,000 - $3,920 - $1,950)

$190,130
Add: Freight in

      2,940
Cost of goods purchased

  193,070
Cost of goods available for sale

218,270
Less: Estimated cost of goods sold

  186,555
Estimated total cost of ending inventory

31,715
Less: Inventory not lost (20% x $31,715)

     6,343
Estimated inventory lost in fire (80% x $31,715)

$ 25,372
	*PROBLEM 6-12A


(a)





Jewellery and



Clothing


Cosmetics


Cost 
Retail 
Cost 
Retail
Beginning inventory
$ 50,600
$   92,000
$ 29,000
$ 48,000
Purchases
770,000
1,440,000
560,000
918,000
Purchase returns
(36,000)
(65,500)
(12,200)
(19,700)

Purchase discounts
(5,000)

(2,800)
Freight in
      7,900


      5,700


Goods available for sale
$787,500
1,466,500
$579,700
946,300
Net sales

(1,348,000)

(889,600)
Ending inventory at retail

$   118,500

$  56,700
Cost-to-retail ratio:

ADVANCE \u6
Clothing—$787,500 ÷ $1,466,500 = 53.7%


Jewellery and Cosmetics—$579,700 ÷ $946,300 = 61.3%

Estimated ending inventory at cost:

ADVANCE \u6
$118,500 x 53.7% = $63,635—Clothing


$56,700 x 61.3% = $34,757—Jewellery and Cosmetics

ADVANCE \d6

ADVANCE \d6(b)
Clothing—$112,750 x 53.7% =
$60,547 per count




  63,635 estimated




$  3,088 loss at cost

Jewellery and Cosmetics—$53,300 x 61.3% = $32,673 per count



      34,757 estimated



$  2,084 loss at cost

	*PROBLEM 6-13A


(a)

Cost 
Retail
Beginning inventory

$  39,875
$  73,500
Purchases

443,300
790,000
Purchase returns

(7,200)
(12,900)

Purchase discounts

(2,300)
Freight in

   12,800


Goods available for sale

$486,475
850,600
Net sales


(780,800)
Ending inventory at retail


$  69,800
ADVANCE \d6Cost-to-retail ratio:

ADVANCE \u6
$486,475 ÷ $850,600 = 57.2%

Estimated ending inventory at cost:

ADVANCE \u6
$69,800 x 57.2% = $39,926
(b)

Physical count at retail 

$60,400

Physical count at cost ($60,400 x 57.2%)

$34,549
Estimated inventory at cost

  39,926
Difference

$  5,377
This difference could be caused by a change in the gross profit percentage, by errors in the accounting records or by a loss in inventory through theft and other causes.

*PROBLEM 6-13A (Continued)

(c)

OUTBACK CLOTHING COMPANY

Income Statement (Partial)

Year Ended January 31, 2008
Sales

$795,000

Less: Sales returns and allowances

   14,200
Net sales

 780,800

Cost of goods sold


Beginning inventory

$ 39,875


Purchases

$443,300


Less: Purchase returns 

  and allowances
 
(7,200)

Purchase discounts

(2,300)

Plus: Freight in

     12,800

Cost of goods purchased

  446,600


Cost of goods available for sale

486,475


Ending inventory

   34,549
Cost of goods sold

 451,926
Gross profit

  328,874
Gross profit margin $328,874 ÷ $780,800 = 42.1%

(d) 
The difference in inventory using the retail method versus the actual is quite high. I recommend that the company consider investing in a perpetual system. It would provide additional information that can help provide control over the inventory. It will also provide more accurate information the relationship between cost and retail on an ongoing basis. 

	PROBLEM 6-1B


1.
Title to the goods does not transfer to the customer until March 3. Include the $950 in ending inventory.

2.
Kananaskis owns the goods once they are shipped on February 26. Include inventory of $405 ($375 + $30).

3.
Include $630 in inventory. These goods have not yet been sold.

4.
Exclude the items from Kananaskis’ inventory. These goods are owned by Craft Producers.

5.
Title of the goods does not transfer to Kananaskis until March 2. Exclude this amount from the February 29 inventory.

6.
The sale will be recorded on February 26. The goods should be excluded from Kananaskis’ inventory at the end of February.

7.
Exclude the items from Kananaskis’ inventory. These goods have been sold.

8. Include the unsold portion of $510 ($875 - $365) in Kananaskis inventory. Title passes to the buyer on sale.
(b) 
$65,000
Original Feb. 29 inventory valuation


+950
1.


+405
2.


+630
3.


    +510
8.


$67,495
Revised Feb. 29 inventory valuation
	PROBLEM 6-2B


(a)
Cost of Goods Available for Sale

Date

Explanation
Units
Unit Cost
Total Cost

Jan. 
1
Beginning inventory
250
$16
$  4,000

Mar.
15
Purchase
700
18
12,600

July
20
Purchase
500
20
10,000


Sept.
4
Purchase
450
22
9,900


Dec.
2
Purchase
   100
24
    2,400


Total


2,000

$38,900
(b)
(1) FIFO


Ending Inventory:

Date

Units
Unit Cost
Total Cost

Dec.
2
100
$ 24
$2,400


Sep.
4
200
22
  4,400



300

$6,800
Cost of goods sold: $38,900 - $6,800 = $32,100

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Jan. 
1
250
$ 16
$  4,000

Mar.
15
700
18
12,600


July
20
500
20
10,000

Sep.
4
   250
22
    5,500


   
1,700*

$32,100


*1,700 = 2,000 - 300
PROBLEM 6-2B (Continued)

(b) (Continued)



(2) Average


Average unit cost: $38,900 ( 2,000 units = $19.45 per unit

Ending Inventory: 300 units x $19.45 per unit = $5,835

Cost of Goods Sold: $38,900 - $5,835 = $33,065
Proof of cost of goods sold:

1,700 units x $19.45 per unit = $33,065

(3) LIFO


Ending Inventory:

Date

Units
Unit Cost
Total Cost

Jan. 1

250
$16
$4,000

Mar.
15
50
 18
    900



300

$4,900
Cost of goods sold: $38,900 - $4,900 = $34,000

Proof of cost of goods sold:

Date

Units
Unit Cost
Total Cost

Dec.
2
100
$24
$  2,400


Sep.
4
450
22
9,900

July
20
500
20
10,000


Mar.
15
   650
18
  11,700



1,700

$34,000
PROBLEM 6-2B (Continued)

(c)


NG COMPANY

Income Statement

Year Ended December 31, 2008
	
	FIFO
	Average
	LIFO

	Sales revenue (1,700 x $33)
	$56,100
	$56,100
	$56,100

	Cost of goods sold
	  32,100
	  33,065
	  34,000

	Gross profit
	$24,000
	$23,035
	$22,100


(d)
I recommend the average cost flow assumption, as average cost produces a higher cost of goods sold for the income statement than does FIFO, and will therefore result in the lower net income and income tax payable. Note that LIFO is not an acceptable answer because LIFO is not permitted to be used for income tax purposes in Canada.

(e)
The choice of inventory cost flow assumption does not affect directly affect cash flow. It is an allocation of costs between inventory and cost of goods sold. 

But the choice of inventory cost flow assumption will affect taxable income and income taxes. Consequently the cost flow assumption that results in the highest cost of goods sold, and therefore the lowest net income, will produce the highest cash flow that year because of reduced income taxes paid.
	PROBLEM 6-3B


(a)
RÉAL NOVELTY

Condensed Income Statements

Year Ended December 31, 2008

FIFO
Average

Net sales

$920,000
$920,000

Cost of goods sold


Beginning inventory

56,250
56,250


Cost of goods purchased

  574,750
  574,750


Cost of goods available for sale

631,000
631,000


Ending inventory

    55,000a
    50,480b

Cost of goods sold

  576,000
  580,520
Gross profit

344,000
339,480

Operating expenses

  151,000
    151,000

Net income

$193,000
$188,480
a 20,000 x $2.75  = $55,000

b Average cost per unit
$631,000 ÷ 250,000c = $2.524
  Ending inventory 
20,000 x $2.524 = $50,480


Cost of goods available for sale

Date

Explanation
Units
Unit Cost
Total Cost

Jan. 
1
Beginning inventory
25,000
$2.25
$  56,250

1st Quarter
Purchase
50,000
2.30
115,000

2nd Quarter
Purchase
50,000
2.50
125,000


3rd Quarter
Purchase
60,000
2.60
156,000


4th Quarter
Purchase
  65,000
2.75
  178,750

Total


250,000c

$631,000
PROBLEM 6-3B (Continued)

(b)
Dear Sir/Madam:


The following inventory related points should assist you in making a choice between the FIFO and average cost flow assumptions:

· The FIFO cost flow assumption produces the most meaningful inventory amount for the balance sheet because the units are costed at the most recent purchase price, which approximates replacement cost. This assumption also approximates actual physical flow of goods because the oldest goods are usually sold first to minimize spoilage and obsolescence.

· The average cost flow assumption produces the more meaningful gross profit/net income because the cost of more recent purchases are matched against sales. FIFO matches the cost of the earliest purchases against sales revenue. Average cost also smoothes costs over time, using an average of all costs during the period rather than matching the cost at any specific time period.

· The choice of inventory cost flow assumption will affect the balance sheet (through inventory) and income statement (through cost of goods sold) of the company. It will not directly impact the company’s cash flow. While purchases and sales have a cash effect, the choice of cost flow assumption does not affect cash as it only allocates costs between inventory and cost of goods sold. But it will have an indirect impact on the cash flow because the cost flow method with the highest cost of goods sold will result in the lowest cash payment of income taxes.
· In selecting a cost flow assumption management should consider their circumstances—the type of inventory and the flow of costs throughout the period. Management should also consider their financial reporting objectives. In the final decision, management should select the cost flow assumption that will best match their costs with their revenues.


Sincerely,

	PROBLEM 6-4B


	(a)
	GENERAL JOURNAL
	
	

	Date
	Account Titles and Explanation
	Debit
	Credit


(a)
Amelia Company—Buyer

July
  5
Purchases (600 x $9)

5,400




Cash


5,400

 
 8
Cash (650 x $11)

7,150




Sales


7,150


10
Sales Returns (100 x $11)

1,100




Cash


1,100


15
Purchases (450 x $8)

3,600




Cash


3,600


16
Cash (50 x $8)

400




Purchase Returns and 




Allowances


400


20
Cash (600 x $9)

5,400




Sales


5,400


25
Purchases (100 x $7)

700




Cash


700
PROBLEM 6-4B (Continued)

(b)
Cost of Goods Available for Sale

Date
Explanation
Units
Unit Cost
Total Cost

July 
1
Beginning inventory
200
$10
$   2,000


5
Purchase
600
9
5,400


15
Purchase
450
8
3,600


16
Purchase return
(50)
8
(400)



25
Purchase
  100
7
    700


Total

1,300

$11,300
Average unit cost = $11,300 ÷ 1,300 units = $8.6923 per unit

Ending inventory = 1501 units x $8.6923 per unit = $1,304

1150 = 1,300 - 650 + 100 - 600

Cost of goods sold: $11,300 - $1,304 = $9,996

Proof of cost of goods sold:

21,150 units x $8.6923 per unit = $9,996

21,150 = 1,300 - 150

(c)
Cost: 150 x $8.6923 = $1,304

Market: 150 x $6 = $900

The ending inventory should be valued at $900, the lower of cost and market. 


This is a departure from the cost basis of accounting and is an application of the accounting characteristic of conservatism. Conservatism means that when choosing among alternatives, the option that is least likely to overstate the results is selected.

PROBLEM 6-4B (Continued)

(d)
Cost of goods sold shown as follows on the income statement:


Cost of goods available for sale:
$11,300


Less: ending inventory at market
       900

Cost of goods sold
$10,400

Note: This is different than the amount calculated in (b) because of the write down to market as shown below:


Cost of goods sold per (b)
$  9,996


Plus: write down to market ($1,304 - $900)
       404

Cost of goods sold reported 



on the income statement
$10,400

No journal entry is required in the periodic system to recognize the write down to market value. Instead the company will use the market value of the inventory when calculating cost of goods sold on the income statement and when updating the value of the inventory account when completing the accounting cycle.

(e)
Cost of goods sold ($1,304 - $900) 

404


Merchandise Inventory


404
	PROBLEM 6-5B


(a)

	Year Ended December 31, 2006

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $    800,000 
	 $    625,000 
	 $  500,000 
	 $ 110,000 

	Impact of Dec. 31/06 Inventory understatement
	U15,000 
	U15,000 
	O15,000 
	U15,000 

	Correct amount
	 $    815,000 
	 $    640,000 
	 $  485,000 
	 $ 125,000 

	
	
	
	
	

	Year Ended December 31, 2007

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $    900,000 
	 $    700,000 
	 $  550,000 
	 $ 125,000 

	Impact of Dec. 31/06 Inventory understatement
	NE
	NE
	U15,000 
	O15,000 

	Impact of Dec. 31/07 Inventory overstatement
	O25,000 
	O25,000 
	U25,000 
	O25,000 

	Correct amount
	 $    875,000 
	 $    675,000 
	 $  590,000 
	 $   85,000 

	
	
	
	
	

	Year Ended December 31, 2008

	 
	Total Assets
	Owner's Equity
	Cost of goods sold
	Net Income

	As reported
	 $    925,000 
	 $    750,000 
	 $  515,000 
	 $ 140,000 

	Impact of Dec. 31/07 Inventory overstatement
	NE
	NE
	O25,000 
	U25,000 

	Correct amount
	 $    925,000 
	 $    750,000 
	 $  490,000 
	 $ 165,000 


PROBLEM 6-5B (Continued)

(b)
The errors in calculating the company’s ending inventory will not have an impact on the company’s cash account. The cash balances will be correctly stated at December 31, 2006, 2007 and 2008.

	PROBLEM 6-6B


(a)
(Incorrect)

ALYSSA COMPANY

Income Statement

Year Ended July 31



2006
2007
2008
Sales 
$300,000
$320,000
$330,000
Cost of goods sold


Beginning inventory
35,000
20,000
35,000


Purchases
 200,000
 240,000
 230,000

Cost of goods available for sale
235,000
260,000
265,000

Ending inventory
   20,000
   35,000
   45,000

Cost of goods sold
 215,000
 225,000
 220,000
Gross profit
85,000
95,000
110,000

Operating expenses
   60,000
   64,000
   66,000

Net income 
$ 25,000
$ 31,000
$ 44,000
(Correct)
ALYSSA COMPANY

Income Statement

Year Ended July 31



2006
2007
2008
Sales 
$300,000
$320,000
$330,000
Cost of goods sold


Beginning inventory
35,000
20,000
43,000


Purchases
 230,000
 210,000
 230,000

Cost of goods available for sale
265,000
230,000
273,000

Ending inventory
  20,000
   43,000
   45,000

Cost of goods sold
245,000
 187,000
 228,000
Gross profit
55,000
133,000
102,000

Operating expenses
   60,000
   64,000
   66,000

Net income (loss)
$ (5,000)
    $ 69,000
$ 36,000

PROBLEM 6-6B (Continued)

(b) 
The impact of these errors on owner’s equity at July 31, 2008 is zero because the total of the income over the three year period is the same with the incorrect statements as it is with the correct statements. However, using the incorrect numbers it appears the company’s net income is increasing over the three year period when in fact it is fluctuating.
(c)
Inventory turnover = Cost of goods sold ÷ Average inventory


Incorrect


2006: $215,000 ÷ [($35,000 + $20,000) ÷ 2] = 7.82

2007: $225,000 ÷ [($20,000 + $35,000) ÷ 2] = 8.18

2008: $220,000 ÷ [($35,000 + $45,000) ÷ 2] = 5.50

Correct


2006: $245,000 ÷ [($35,000 + $20,000) ÷ 2] = 8.91

2007: $187,000 ÷ [($20,000 + $43,000) ÷ 2] = 5.94

2008: $228,000 ÷ [($43,000 + $45,000) ÷ 2] = 5.18
	PROBLEM 6-7B


(a) 

	PepsiCo. Inc
	2005
	2004

	Inventory turnover 
	
[image: image3.wmf]times

 

8.77

2

$1,541)

($1,693

$14,176

=

¸

+


	
[image: image4.wmf]times

 

8.56

2

$1,421)

($1,541

$12,674

=

¸

+



	Days sales in inventory
	
[image: image5.wmf]days

 

41.6

times

 

8.77

365

=


	
[image: image6.wmf]days

 

42.6

times

 

8.56

365

=



	Current ratio
	
[image: image7.wmf]1

:

1.11

$9,406

$10,454

=


	
[image: image8.wmf]1

:

1.28

$6,752

$8,639

=



	Gross profit margin
	
[image: image9.wmf]56.5%

$32,562

$14,176

$32,562

=

-


	
[image: image10.wmf]56.7%

$29,261

$12,674

$29,261

=

-



	Profit margin
	
[image: image11.wmf]12.5%

$32,562

$4,078

=


	
[image: image12.wmf]14.4%

$29,261

$4,212

=




PROBLEM 6-7B (Continued)

(a) (Continued)

	Coca- Cola Company
	2005
	2004

	Inventory turnover 
	
[image: image13.wmf]times

 

5.76

2

$1,420)

($1,424

$8,195

=

¸

+


	
[image: image14.wmf]times

 

5.74

2

$1,252)

($1,420

$7,674

=

¸

+



	Day sales in inventory
	
[image: image15.wmf]days

 

63.4

times

 

5.76

365

=



	
[image: image16.wmf]days

 

63.6

times

 

5.74

365

=



	Current ratio
	
[image: image17.wmf]1

:

1.04

$9,836

$10,250

=


	
[image: image18.wmf]1

:

1.10

$11,133

$12,281

=



	Gross profit margin
	
[image: image19.wmf]
[image: image20.wmf]64.5%

$23,104

$8,195

$23,104

=

-


	
[image: image21.wmf]64.7%

$21,742

$7,674

$21,742

=

-



	Profit margin
	
[image: image22.wmf]21.1%

$23,104

$4,872

=


	
[image: image23.wmf]22.3%

$21,742

$4,847

=




PROBLEM 6-7B (Continued)

(b)
PepsiCo’s liquidity is reasonably healthy. Its current ratio is more than 1:1 although it decreased from 2004 to 2005. Its inventory turnover and days sales in inventory were also consistent for the two years. 
PepsiCo’s results for 2004 and 2005 show a gross profit margin of 56.7% and 56.5% respectively and a profit margin of 14.4% and 12.5%. The gross profit declined marginally while the profit margin decreased more substantially.

Coca-Cola’s liquidity is healthy. Its current ratio was 1:1 in 2004 although it decreased marginally from 2004 to 2005. Its inventory turnover and days sales in inventory consistent.

Although Coca-Cola was very profitable in both years, its profitability declined from 2004 to 2005. Its gross profit margin declined from 64.7% in 2004 to 64.5% in 2005 and its profit margin decreased from 22.3% to 21.1%.

It is meaningful to compare these two companies in terms of their ratios because the companies operate in the same industry. They are different in terms of their size and a ratio analysis eliminates this difference and makes for a meaningful comparison. It would be useful to know if their accounting polices differ in any significant ways.

	*PROBLEM 6-8B


(a)
FIFO
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Oct. 
1
	
	
	
	
	
	
	60
	$50
	$3,000

	
9
	195
	$46
	$8,970
	
	
	
	60

195
	50
46
	11,970

	10
	(5)
	46
	(230)
	
	
	
	60

190
	50
46
	11,740

	15
	
	
	
	60

140
	$50
46
	$9,440
	50
	46
	2,300

	22
	150
	44
	6,600
	
	
	
	50
150
	46

44
	8,900

	29
	
	
	
	50
 35
	46

44
	3,840
	115
	44
	 5,060

	30
	
	
	
	(5)
	44
	(220)
	120
	44
	5,280

	31
	45



	42

	1,890


	

	
	

	120
  45
	44
42
	  7,170

	Total
	385
	
	$17,230
	280
	
	$13,060
	165
	
	$7,170


Proof: $3,000 + $17,230 = $13,060 + $7,170

Average
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Oct.
1
	
	
	
	
	
	
	60
	$50.00
	$3,000

	
9
	195
	$46
	$8,970
	
	
	
	255
	46.94
	11,970

	10
	(5)
	46
	(230)
	
	
	
	250
	46.96
	11,740

	15
	
	
	
	200
	$46.96
	$9,392
	50
	46.96
	2,348

	22
	150
	44
	6,600
	
	
	
	200
	44.74
	8,948

	29
	
	
	
	  85
	44.74
	  3,803
	115
	44.74
	5,145

	30
	
	
	
	(5)
	44.74
	(224)
	120
	44.74
	5,369

	31
	  45
	42
	1,890
	

	
	

	165
	43.99
	  7,259

	Total
	385
	
	$17,230
	280
	
	$12,971
	165
	
	$7,259


Proof: $3,000 + $17,230 = $12,971 + $7,259
*PROBLEM 6-8B (Continued)
(a) 
(Continued)


LIFO
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Oct. 
1
	
	
	
	
	
	
	60
	$50
	$3,000

	
9
	195
	$46
	$8,970
	
	
	
	60
195
	50
46
	11,970

	10
	(5)
	46
	(230)
	
	
	
	60

190
	50
46
	11,740

	15
	
	
	
	190
10
	$46
50
	$9,240
	50
	50
	2,500

	22
	150
	44
	6,600
	
	
	
	50
150
	50
44
	9,100

	29
	
	
	
	85
	44
	3,740
	50
65
	50
44
	5,360

	30
	
	
	
	(5)
	44
	(220)
	50
70
	50
44
	5,580

	31
	45



	42

	1,890


	

	
	

	50
70

  45
	50
44

42
	  7,470

	Total
	385
	
	$17,230
	280
	
	$12,760
	165
	
	$7,470


Proof: $3,000 + $17,230 = $12,760 + $7,470
(b) 

LAHTI COMPANY

Income Statement (Partial)

Month Ended October 31, 2008

FIFO
Average
LIFO
Sales (200 x $65 + 85 x $60 - 5 x $60)

$17,800
$17,800
$17,800
Cost of goods sold

13,060
12,971
12,760
Gross profit

  4,740
  4,829
  5,040
*PROBLEM 6-8B (Continued)
(c)
If Lahti had experienced increasing prices, the gross profit would be highest under FIFO, lowest under LIFO and the average would continue to result in a gross profit between the other two assumptions.
	*PROBLEM 6-9B


(a)
(1)
FIFOADVANCE \d1
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 
1
	
	
	
	
	
	
	25
	$95
	$2,375

	
4
	
	
	
	2
	$95
	$190
	23
	95
	2,185

	18
	7
	$104
	$728
	
	
	
	23

7
	95
104
	2,913

	31
	
	
	
	6
	95
	570
	17
7
	95
104
	2,343

	June 5
	6
	110
	660
	
	
	
	17

7

6
	95

104

110
	3,003

	12
	
	
	
	3
	95
	285
	14

7

6
	95

104

110
	2,718

	25
	


	
	

	3



	95
	285



	11

7

  6
	95

104

110
	 2,433

	Total
	13
	
	$1,388
	14
	
	$1,330
	24
	
	$2,433


Check:  $2,375 + $1,388 = $1,330 + $2,433
(2)
Average
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	May 
1
	
	
	
	
	
	
	25
	$95.00
	$2,375

	
4
	
	
	
	2
	$95.00
	$190
	23
	95.00
	2,185

	18
	7
	$104
	$  728
	
	
	
	30
	97.10
	2,913

	31
	
	
	
	6
	97.10
	583
	24
	97.10
	2,330

	June 5
	6
	110
	660
	
	
	
	30
	99.67
	2,990

	12
	
	
	
	3
	99.67
	299
	27
	99.67
	2,691

	25
	

	
	

	  3
	99.67
	  299
	24
	99.67
	  2,392

	Total
	13
	
	$1,388
	14
	
	$1,371
	24
	
	$2,392


Check:  $2,375 + $1,388 = $1,371 + $2,392
*PROBLEM 6-9B (Continued)

(b)
	
	
	FIFO
	Average

	
	
	Dr.
	Cr.
	Dr.
	Cr.

	May  4
	Cash (2 x $209)

  Sales

Cost of Goods Sold

  Inventory

	418
190
	418
190
	418
190
	418
190

	18
	Inventory

  Cash

	728
	728
	728
	728

	31
	Cash (6 x $219)

  Sales

Cost of Goods Sold

  Inventory

	1,314
570
	1,314
570
	1,314
583
	1,314
583

	Jun. 5
	Inventory

  Cash

	660
	660
	660
	660

	12
	Cash (3 x $229)

  Sales

Cost of Goods Sold

  Inventory

	687
285
	687
285
	687
299
	687
299

	25
	Cash (3 x $229)

  Sales

Cost of Goods Sold

  Inventory

	687
285
	687
285
	687
299
	687
299


*PROBLEM 6-9B (Continued)

(c)

RELIABLE CAMERA MART

Income Statement (Partial)

Month Ended May 31, 2008

FIFO
Average
Sales ($418 + $1,314 + $687 + $687)

$3,106
$3,106
Cost of goods sold

  1,330
  1,371
Gross profit

  $1,776
  $1,735
(d) 
The choice of inventory cost flow assumption does not affect cash flow. It is an allocation of costs between inventory and cost of goods sold.

(e)
In selecting a cost flow assumption, Reliable Camera Mart should consider their circumstances—the type of inventory and the flow of costs throughout the period. They should select the assumption that will best match their costs with their revenues.
	*PROBLEM 6-10B


(a)
(1) Average—periodic 

	Cost of Goods Available

	Date
	Units
	Unit Cost
	Total Cost

	Jan. 
1
	250
	$30
	$7,500

	
8
	110
	32
	3,520

	
15
	100
	35
	3,500

	
26
	110
	39
	  4,290

	
27
	  (6)
	39
	      (234)

	Total
	564
	
	$18,576


Average cost per unit: $18,576 ÷ 564 = $32.94
Ending inventory = 269a x $32.94 = $8,860
a 269 = 564 - 175 - 120

Cost of goods sold = $18,576 - $8,860 = $9,716
Proof of cost of goods sold: 295b x $32.94 =
 $9,716
b 295 = 175 + 120
(2) Average—perpetual

	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Jan. 1
	
	
	
	
	
	
	250
	$30.00
	$7,500

	 
2
	110
	$32
	$ 3,520
	
	
	
	360
	30.61
	11,020

	
8
	
	
	
	175
	$30.61
	$5,357
	185
	30.61
	5,663

	
15
	100
	35
	3,500
	
	
	
	285
	32.15
	9,163

	 25
	
	
	
	120
	32.15
	3,858
	165
	32.15
	5,305

	26
	110
	39
	  4,290
	
	
	
	275
	34.89
	9,595

	 23
	  (6)
	39
	      (234)
	
  
	
	

	269
	  34.80
	  9,361

	Total
	314
	
	$11,076
	295
	
	$9,215
	269
	
	$9,361


Proof $7,500 + $11,076 = $9,215 + $9,361
*PROBLEM 6-10B (Continued)

(b) 
Comparison

	
	Periodic
	Perpetual 

	
	Ending

Inventory
	Cost of Goods Sold
	Ending

Inventory
	Cost of Goods Sold

	Average
	$8,860
	$9,716
	$9,361
	$9,215


The numbers are different. Using the perpetual system, the average cost is recalculated after every purchase. Because the prices are rising this results in a lower cost of goods sold.

	*PROBLEM 6-11B




November

Net sales ($500,000 - $10,000 - $4,500)

$485,500
Cost of goods sold

Beginning inventory

$22,700

Purchases

$325,745

Less:  Purchase returns 

  and allowances
    $11,700


Purchase discounts
   2,950
  14,650

Net purchases

311,095

Add:   Freight in

      4,573

Cost of goods purchased

  315,668

Cost of goods available for sale

338,368


Ending inventory

    26,270

Cost of goods sold

  312,098
Gross profit

$173,402
Gross profit margin =
 $173,402 = 35.7%


$485,500


December

Net sales ($600,000 - $12,000 - $5,400)

$582,600
Less: Estimated gross profit (35.7% x $582,600)

  207,988
Estimated cost of goods sold

$374,612
Beginning inventory

$  26,270
Purchases

$390,235
Less:  Purchase returns 

and allowances

$12,900


Purchase discounts

   3,500
   16,400
Net purchases

373,835
Freight in

     4,100
Cost of goods purchased

 377,935
Cost of goods available for sale

404,205
Less: Estimated cost of goods sold

 374,612
Estimated inventory lost in fire

$ 29,593
	*PROBLEM 6-12B


(a)


CD’s


DVD’s


Cost 
Retail 
Cost 
Retail
Beginning inventory
$ 275,000
$423,000
$ 190,000
$ 322,000
Purchases
1,180,000
1,800,000
1,045,000
1,771,000
Purchase returns
(23,600)
(36,000)
(20,900)
(35,400)

Purchase discounts
(5,900)

(5,100)
Freight in
   5,000  

      6,200  

Goods available for sale
$1,430,500
2,187,000
$1,215,200
2,057,600
Net sales

(1,798,000)

(1,626,000)
Ending inventory at retail

$   389,000

$  431,600
Cost-to-retail ratio:

ADVANCE \u6
CDs—$1,430,500 ÷ $2,187,000 = 65.4%


DVDs—$1,215,200 ÷ $2,057,600 = 59.1%

Estimated ending inventory at cost:

ADVANCE \u6
$389,000 x 65.4% = $254,406—CDs

$431,600 x 59.1% = $255,076—DVDs
ADVANCE \d6

ADVANCE \d6(b)
CDs—$381,250 x 65.4% = $249,338 per count



$254,406 estimated



$   5,068 loss at cost


DVDs—$426,100 x 59.1% = $251,825 per count



$255,076 estimated



$    3,251 loss at cost

	*PROBLEM 6-13B


(a)

COUNTRY LACE CLOTHING COMPANY

Income Statement (Partial)

Year Ended March 31, 2008
Sales

$330,000

Less: Sales returns and allowances

   13,000

Net sales

 317,000
Cost of goods sold


Beginning inventory

63,000


Purchases

$200,000


Less: Purchase returns and allowances
 
(6,000)

Purchase discounts

(2,500)

Plus: Freight in

   10,000

Cost of goods purchased

  201,500


Cost of goods available for sale

264,500


Ending inventory

    56,000

Cost of goods sold

  208,500

Gross profit

  108,500
Gross profit margin = $108,500 ÷ $317,000 = 34.2%

(b)
Net sales

$317,000

Less:  Estimated gross profit (35%* x $317,000)

    110,950

Estimated cost of goods sold

$206,050

*(Use historical rate when estimating.)

Cost of goods available for sale

$264,500

Less:  Estimated cost of goods sold

  206,050

Estimated ending inventory

 58,450

Actual ending inventory

    56,000

Difference

$    2,450
*PROBLEM 6-13B (Continued)

(b) (Continued)

The difference of $2,450 could be caused by a change in the average gross profit percentage, by a different mix of inventory items sold in the current year compared to prior years, by errors in the accounting records, or by a loss in inventory through theft or shrinkage.
(c) 
The difference in inventory using the estimated gross profit method versus the actual results in a lower amount than the actual ending inventory. I recommend that Country Lace consider investing in a perpetual system. Although a perpetual inventory system may cost more than a periodic inventory system, this cost may be offset by better control over the inventory and reduced losses. It will also provide the company with more accurate information on actual gross profit on an ongoing basis. 


Regardless of whether a perpetual or periodic inventory system is used, the company may wish to ensure that this difference is not caused by theft and ensure that proper monitoring of shoplifting is in place.

	CONTINUING COOKIE CHRONICLE


(a) 
Average - Perpetual
	
	Purchases
	Cost of Goods Sold
	Balance

	Date
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Jan. 31
	
	
	
	
	
	
	3
	$525.00
	$1,575

	Feb. 
2
	2
	$550.00
	$1,100
	
	
	
	5
	535.00 
	2,675

	16
	
	
	
	1
	$535.00
	$535
	4
	535.00 
	2,140

	Mar. 
2
	1
	567.00
	567
	
	
	
	5
	541.40 
	2,707

	30
	
	
	
	2
	541.40
	1,083
	3
	541.40
	1,624

	April 
1
	2
	561.00
	1,122
	
	
	
	5
	549.20
	2,746

	13
	
	
	
	3
	549.20
	1,648
	2
	549.20
	1,098

	May
4
	3
	573.33
	1,720
	
	
	
	5
	563.60
	2,818

	27
	

	
	

	1
	563.60
	     564
	4
	563.60
	  2,254

	Total
	8
	
	$4,509
	7
	
	$3,830
	4
	
	$2,254


Proof: $1,575 + $4,509 = $3,830 + $2,254
(b) Average - Periodic

Cost of Goods Available for Sale

Date        
Explanation
Units
Unit Cost
Total Cost

Jan. 
31
Beginning inventory
3
$525.00
$  1,575

Feb. 2

Purchase
2
550.00
1,100

Mar. 2

Purchase
1
567.00
567

Apr. 1

Purchase
2
561.00
1,122

May 4

Purchase
  3
573.33
  1,720


Total


11

$6,084

Average cost per unit: $6,084 ÷ 11 units = $553.09 per unit

Ending inventory: 4 units x $553.09 per unit = $2,212
Cost of goods sold: $6,084 - $2,212 = $3,872

Proof of cost of goods sold: 
7 units x $553.09 per unit = $3,872
CONTINUING COOKIE CHRONICLE (Continued)

(c)
Comparison

Perpetual
Periodic
Cost of Goods Sold
$3,830
$3,872
Ending Inventory
 2,254
 2,212
 
In a periodic system, the average is a weighted average based on total goods available for sale at the end of the period. In a perpetual system, the average is calculated after each purchase (goods available for sale in dollars ÷ goods available for sale in units) and becomes a moving average.

I recommend that Nathalie consider using a perpetual system. Although a perpetual inventory system may cost more than a periodic inventory system because of the detailed accounting requirements, this cost may be offset by better control over the inventory and reduced losses. It will also provide the company with more accurate information on actual gross profit on an ongoing basis.
	BYP 6-1 FINANCIAL REPORTING PROBLEM


(a)
Inventories are valued at the lower of laid down cost and net realizable value. Cost includes invoice cost, duties, freight and distribution costs. Net realizable value is defined as the expected selling price.

(b)
The Forzani Group uses the weighted average cost assumption. “Weighted” average cost is a periodic inventory system term.

(c)
A different cost flow assumption would affect Forzani’s results, if the price of products increases or decreases greatly during the course of the year. Given the high level of inventory in relation to current assets and total revenue, the effect may be material.

(d) Inventory as a percentage of current assets

2006: $278,002 ÷ $368,842 = 75%


2005: $278,631 ÷ $366,247 = 76%


Cost of sales as a percentage of total revenue


2006: $746,311 ÷ $1,129,404 = 66.1%


2005: $651,148 ÷ $985,054 = 66.1%

Inventory as a percentage of current assets and cost of sales as a percentage of total revenue were fairly consistent from 2005 to 2006. ADVANCE \d6
BYP 6-1 (Continued)

(e)
 


	
	Inventory Turnover 
	Days Sales in Inventory

	2006
	2.7 
	135 days

	2005
	
[image: image24.wmf]times

 

2.78

2

$258,816)

($278,002

$746,322

=

¸

+


	
[image: image25.wmf]days

 

131

times

 

2.78

365

=




Forzani’s inventory management appears to have weakened in 2006. The inventory turnover has decreased slightly and the days sales in inventory has increased indicating it is taking longer to sell the inventory.
	BYP 6-2 INTERPRETING FINANCIAL STATEMENTS


(a) 
	
	Inventory Turnover 
	Days Sales in Inventory

	2005
	
[image: image26.wmf]times

 

3.7

2

$199,421)

($207,643

$743,327

=

¸

+


	
[image: image27.wmf]days

 

99

times

 

3.7

365

=




	2004
	
[image: image28.wmf]times

 

3.8

2

$202,455)

($199,421

$760,554

=

¸

+


	
[image: image29.wmf]days

 

96

times

 

3.8

365

=




The ratios have deteriorated. This means that the inventory is being sold slower in 2004 than in 2005.
(b) 
The company uses a perpetual system. We know this because in the additional information it states they use a “moving average” cost flow assumption. In a perpetual system, the average is calculated after each purchase (goods available for sale in dollars ÷ goods available for sale in units) and is considered to be a “moving average”.

(c)
Indigo applies the lower of cost and market rule on an individual item basis. The additional information in the financial statements indicates the company (see point 2.) makes a write down when the retail price of an individual item is less than its cost.
(d)
Companies use the retail inventory method because it simplifies the process of valuing inventory. But the retail inventory method provides only an estimate of ending inventory and does not provide detailed records of inventory throughout the year. By changing to the moving average method Indigo will be more able to track its inventory.

BYP 6-2 (Continued)

(e)
Amazon.com Inc. would have a better balance sheet valuation because FIFO results in an ending inventory value that approximates replacement cost. This will cause difficulties in comparing the two companies because it is impossible to know what the inventory valuation of Amazon.com would have been if it used average. 
	BYP 6-3 COLLABORATIVE LEARNING ACTIVITY


All of the material supplementing the collaborative learning activity, including a suggested solution, can be found in the Collaborative Learning section of the Instructor Resources site accompanying this textbook.

	BYP 6-4 COMMUNICATION ACTIVITY


MEMO

To:

Mutahir Kazmi, President

From:

Controller

Subject:

2007 Ending Inventory Error

The combined gross profit and net income for 2007 and 2008 are correct. However, the gross profit and net income for each individual year are incorrect.

As you know, the 2007 ending inventory was understated by $1 million. This error will cause the 2007 net income to be incorrect because the ending inventory is used to calculate the 2007 cost of goods sold. Since the ending inventory is subtracted in the calculation of cost of goods sold, an understatement of ending inventory results in an overstatement of cost of goods sold. Therefore, gross profit (sales – cost of goods sold) is understated, as is net income.

Unless corrected, this error will also affect 2008 net income. The 2007 ending inventory is also the 2008 beginning inventory. Therefore, the 2008 beginning inventory is also understated, which causes an understatement of cost of goods sold. The 2008 gross profit and net income are subsequently overstated.

If the error is not corrected, the gross profit and net income for 2007 and 2008 will be incorrect. Although the combined net incomes will be correct, (because the understatement in 2007 cancels the overstatement in 2008), the trend in each year will be misleading.

	BYP 6-5 ETHICS CASE


(a)  
1. 
Maximize gross profit—select lowest cost inventory for cost of goods sold


Sales [(500 x $650) + (170 x $600)]

$427,000


Cost of goods sold


  [(140 x $300) + (200 x $340) + (330 x $370)]

  232,100

Gross profit

$194,900
     
2. 
Minimize gross profit—select highest cost inventory for cost of goods sold


Sales [(500 x $650) + (170 x $600)]

$427,000


Cost of goods sold


  [(130 x $300) + (200 x $340) + (340 x $370)]

  232,800

Gross profit

$194,200

Difference

$700

  
Reconciliation of difference


10 x ($370 - $300) 

$700

(b)
Average cost flow assumption


Sales [(500 x $650) + (170 x $600)]

$427,000


Cost of goods sold [{(140 x $300) +


  (200 x $340) + (340 x $370)} ÷ 680 x 670]
 
  232,332

Gross profit

$194,668
BYP 6-5 (Continued)

(c)
The stakeholders are the investors and creditors of Discount Diamonds. Choosing which diamonds to sell in a month is unethical because it is managing income–it is not based on fact as the diamonds are all identical.

(d)
Discount Diamonds should select the average cost flow assumption. The specific identification method is not appropriate because all items are identical. Using the average cost flow assumption in a time of rising prices will smooth out variations in prices and result in reasonable values for both the income statement and balance sheet.
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